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1 Introduction

The target is to optimize a printed circuit board(PCB) assembly machine of Assembléon
also known as a pick and place machine. The present PCB machines are capable of placing
150.000 components in one hour with an accuracy of 40 micrometers. One of the problems
at these speeds is that the cable slabs wear out. Because these machines are sold worldwide
maintaining them is expensive. A possible solution to this problem is to replace the current
cable slabs with wireless communication.

The pick and place machines of Assembléon has 4 degrees of freedom. Besides allowing
movement on the x-, y- and z-axis this machine is capable to turn the components in the
right angle with the ¢-axis.

Controlling these axis wireless with the desired accuracy is quite a challenge. One of the
problems that occur is the fact that wireless communication is much slower than wired
communication. This will result in communication delays. A delay in the control loop can
result in inaccuracy and even instability. Also the mutual communication between the axis
will be delayed. So the different axes have no real-time position information of each other.
This can slow down the placement and the desired placement-ratio will not be achieved.
This aspect that will be handled within this thesis.




2 Problem Description

First we will look where it is possible to replace wired communication with wireless com-
munication. Two wireless control structures occur and will be further analyzed. The two
possible structures are depicted in figure 1 and figure 2. We will call then respectively struc-
ture A and structure B. Both structures bring their own advantages and disadvantages.

1
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Figure 1: A classic closed-loop structure(A)
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Figure 2: A closed-loop over a wireless channel structure(B)

Option A is by means of a classic closed-loop control scheme. Only the reference values
and the measured output values will be transmitted wireless. Option B is a closed-loop
over a wireless channel. The advantages and disadvantages are shown in table 1.

Table 1: Compare structure options

Structure A Structure B

+ always stabilizing in a case of a — possibility to instability in case of an
unstable plant unstable plant

+ less fast and reliable wireless link — fast and more reliable wireless network
needed (position controlled) needed (real-time)

+ no delay the in control loop — delay can destabilize the control loop

— o central control point with real-time | + one central control point with real-time
information of all axes is available information of all axes is available
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In this thesis we will focus on structure A, because this is the structure that Assembléon
considers implementing in their pick and place machines. There will be 2 local controllers.
One controller will be responsible for the y-movement and the other controller for the
movements of the x-, z- and phi-axis. Before the z-movement, placement of the component,
can occur, the controller must be sure that the y- and x-axis are on the right spot and the
¢-axis has the right angle.

2.1 Overall picture

In figure 3 a possible control structure is brought up. To the y-actuator no moving cables
are attached so it is unnecessary to replace the existing wiring with a wireless connection.
The three controllers have a collective clock to be able to control the different actuators
synchronously.

€
Zdata(t+t) T | e
Controller Z ECCO:::H;; . Plantz (Zpos()
) R
position [
information |
] v @
Xdata, | - Xdata (1+1) . ... | | Curent Xpos {1)
A
+{Fooin] -
wireless Local Controller Two
<l
Ydata
Ydata - - - - s - o e et CoONtroller Yo - thbl:\:glr:;r . Plant Y A { Of ®
4 ;¥ |
Main Controller Local Controller One

Figure 3: Illustration of a possible control structure

To determine the positions of the components that need to be mounted a snapshot of the
PCB will be made. Now the positions of the components can be determined and will be
processed. Every snapshot will deliver position information on the next five components
that need to be placed. This contains the pickup codrdinates and the place codrdinates.
Now for every component the optimal position profiles can be generated. Accordingly a
start time is determined so the x- and y-axis will start synchronously.

The placing/picking of the next five components will occur successive. But before a com-




2.1 Overall picture 5.

ponent can be placed or picked the position of the x-axis and y-axis must be confirmed.
In other words the z-controller must be updated with the position of the x-axis and the
y-axis. This will ensure that the right component will be picked on the desired place.
When starting with the next position profile the axis will be in their start position. This
position must also be confirmed.

But here the wireless connection between the controllers will interfere. As indicated before
the position information is not real-time available. Of course we don’t want to wait on
position information to be transmitted. This will take too much time and we can’t comply
with the current specifications. An option is to estimate the position. In this thesis we
will look if an estimation is fast and accurate enough.

We will estimate the position of the x-axis and y-axis. So the controller Z and controller
X from figure 3 can be provided with the position information of the y-axis. This way
controller Z has enough information to place a component and controller Y knows when to
proceed with the next position profile. The controller Y will be provided with the position
information of axis X. So this controller can also independently proceed with the next
position profile.

This problem will be singled out in this thesis.

We will start by getting full control of the pick an place machine Assembléon donated
for research purposes. This machine is delivered with a embedded computer. Because we
want to be in full control we will replace this computer with our own research environment.
For that some adjustments are made on the system. These are explained in chapter 3
Before taking full control it is wise to study the hardware. In chapter 4 linear permanent
magnet motors are analyzed and a relation between the current and the force is deter-
mined. Now we have established a full understanding of the system we are able to control
the pick and place machine. In this chapter also the model of the x-axis and y-axis are
designed.

The controllers designed for both motors are explained in chapter 5.

Now the model of the motor and the controller is known a good model of the overall system
can be made. This is done in chapter 6. This model will be used to design an observer.
An observer is capable to correct the different states in a model due to a known error.
This error is due to the fact that the model does not contain all the dynamics of the real
system. As indicated before is the real position information in transmitted wireless so this
error is not real-time available. The observer designed capable to process delayed position
information can also be found in chapter 6.
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3 System adjustments

The pick and place machine is controlled by an embedded computer. This closed system
gives no information about the control signals, and therefore offers no options to remote
analyse and control the system. Therefore we want to control the pick and place machine
from our own control environment dSpace.

This contains feeding both motors with a 3 phase current. For this suitable current am-
plifiers needs to be implemented. These amplifiers needs to be supplied with 2 current
reference signals and external extrenal on/off signal. Finally the incremental encoders
needs to be tapped for position information.

3.1 dSpace

The used dSpace board is cp1104. This board has 2 incremental encoders which is sufficient
to read the position information of the x- and y-axis. The board has enough analog outputs
the supply the reference currents to control the current amplifier. Two digital outputs will
be used to enable and disable the current amplifiers. The control algorithms is now capable
to . These control algorithms can be easily uploaded on the board’s microprocessor. Which
gives full control of the pick and place machine and all control signals can be visualized on
the screen or be stored on the computer for futher analysis.

3.2 Incremental encoders

For position information the robot is equiped with incremental encoders. For the different
axis different encoders are used.

Table 2: Incremental encoders specification
Axis | Manufacturer Resolution | Interface
X MicroE M1510-40 0.5 pm Differential RS422
Y Heidenhain ERO 1470 | 1.5 ym Differential RS422

The wireing between the encoders and the processor is done with differential wiring for
low distortion levels. Because the used dSpace panel is equipped with the same diffetential
RS422 incremental encoder ports, the data signals can be directly tapped from the motor
and connected to the dSpace panel.

3.3 Current control

For the current controllers amplifier from the manufacturer Elmo motion control are used.
For the x-actuator a FLU-3/100 is used and for the y-actuator a FLU-15/60 is used. The
inputs of the amplifier are current references. To follow these current references a built-in
control loop is used. The current reference drives a pulse width modulation(PWM) module.
This PWM module switches MOSFETS to connect the positive or negative voltage to the




3.3 Current control 8.

winding. The resulting current is measured and fed back. This closed loop control will
regulate the duty cycle of the PWM module such that the measured current is equal to
the current reference. The motor is a three phase motor. The current amplifier needs only
to be fed with two phase currents. The third phase current is calculated from the first and
second current, such that the sum of the currents is zero.

Table 3: Specification of the current amplifiers

Unit | Motor X-axis | FLU-3/100 | Motor Y-axis | FLU-16/60
Lnominat | Aess | 0.87 3.3 6.9 15
Ipeak Acss |31 6.6 21.5 30
Viominat | V 36 85 48 49
Vimaz \% - 100 - 60

The amplifier has mutiple tuning options and is equipped with an Current Gain Con-
trol(CGC). A CGC improves the performance of low induction motors. Because both
motors are low induction motors this option is enabled. It reduces the proportional gain
of the current loop by approximately 70%.

When looking at table 3 the FLU-3/100 looks a bit over dimensioned but that is with pre-
meditation. The amplifier is equipped with a Current Feedback Multiplier(CFM), which
multiplies the feedback current by 2 and consequently the followinf changes occur,

- the current gains are devided by 2

- the current monitor is multiplied by 2

- the current limits are devided by 2

Notice that the amplifier is well suited for controlling the x-motor. The settings can be
found in table 4

Table 4: Current amplifier settings
FLU-3/100 | FLU-16/60

Current Feedback Multiplier (CFM) | YES NO
Current Gain Control (CGC) YES YES




4 Linear permanent magnet motor

4.1 Dynamics

For movement in both directions a permanent magnet motor is used. A previous study
from Antoine Verweij about the Control of a permanent magnet linear motor is used [1].
For the x-movement a linear UC-motor from the manufacturer Technotion is used. For
the y-movement a rotating MSSI-motor from Wittenstein. Comparing the shape of both
motors is totally different. The translator of the linear motor moves with one degree of
freedom while the rotating motor is rotating. Still the working principle is the same as
illustrated in figure 4.

Figure 4: Transformation from a linear motor to a rotating motor

Both motors have a stator with permanent magnets and three translators. By sending
a current through the windings of the translators a magnetic field is generated. The
attracting and repelling forces between the permanent magnets and the generated magnetic
field will result in a movement of the translator.

First the relation between the current and the force will be determined. By looking at the
voltage over the motor the total power can be calculated. We can separate the mechanical
power from the electrical power. We are only interested in the mechanical power, because
this results into movement.

The voltage over one winding can be descibed with the following relation,

u=1-R+ (fi—ztp with ¢ = N¢ (coupled flux) (1)

where u is the voltage over the winding, 7 is the current through the winding, R is the
winding’s resistance and v is the coupled flux,with,

dy dyp de  dy di

_ W dz dY di 9

dt  dr @t @@ (22)
dy

[ =—-= 2b
di (2b)

@ _dy dv o odi (20)

dt ~ dz dt dt
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where L is the inductance.

The total Power P, of one winding can be calculated, with:

dy dzx 1dLi?

P, =u-i=3 -R4+ 2.2 ;4= 3

total + dr  dt + 5 dt ( )

From this equation we can distinguish the mechanical power and the electrical power.
Because we are at this time only interested in the mechanical power Pechanicar the electrical

power will be neglected.

dy dz

P =L i =F. 4
mechanical dSC dt 4 F U(t) ( a‘)
dy .
F==-=. 4b
el (4b)
The coupled flux is position dependent with the following relation,
¥(z) = —¢ - cos(p(z) — p) (5a)
i(x) = —1 - sin(é(z) — ¢) (5b)
and,
T
p(z) = d(e) = = (6

Were ¢(z) is the current angle which follows the translator displacement, p(z) is the posi-
tion of the translator, ¢ and p and the unknown current and position offset, and 7 is the
distance between the permanent poles of the stator.
The force can be calculated,with:
m™ 2 , O
F(z) = —-4-sin(—p(z) —p) - [ - sin(é(z) - ¢) (7a)
N 1 2 o
F(z)=1- Kphi{cos(—p —¢) — cos(g) —p+ ¢} where Kp, = ; < (7b)

Kpp is a constant depending on the geometry and strength of the magnets.
The average force will be,

_ 1 .
F(z) = 5 Kpn - I - cos(p + 9) (8)
And the maximum force is reached when p = —¢,which leads to,

1 - 2mr
Fmam(.’lﬂ) = 5 * Dpp I- (1 - COS(T + 2p) (9)




4.2 Alignment procedure 11.

Now the force for one winding can be calculated. As illustrated in figure 4 the linear
motor contains three windings. The total force can be calculated by taking the sum of the
three windings (see equation 10a). Keep in mind that the windings are related with a 120°
electrical phase shift with respect to each other.

FR=f-Kph‘%-{cos(—p—gb)—cos(@——p—i—(ﬁ)}

F3=f'Kph'% {cos( —p—¢) —cos(%Tx—p—i-qb-i-%r)} (10a)
FTzf-Kph-% {cos( —p—9) —cos(@—p-ﬁ-qﬁ-ﬁ-%)}

Fio = K; - I - cos(p + @) (10b)

As shown in equation 10b the force is dependent on the offset position of the translator p
and the offset current angle ¢. The relation between the force, position and phase is shown
in figure 5. As you can see in the worst case the force can be zero. Then the motor will
not move.

For optimal control we want to apply the maximum force. Therefor the motor needs to be
aligned. The alignment procedure will be explained in section 4.2.

+F ) e
\90° 2700,

-F

Figure 5: Force, Position and Phase curve

4.2 Alignment procedure

In the previous section was shown that when the offset position of the translator (p) minus
current angle (9) is %w or added with a plural from 7 the force is always zero regardless of
the current. To overcome this problem an alignment procedure will be introduced. This
procedure will be written in C** and implemented in simulink as an S-function.

The concept in this procedure is that the translator movement will be kept to an absolute
minimum. However it is impossible to have no movement at all because the only available
indicator of the position comes from the incremental encoders. This is solved by moving
the translator in one direction and the next movement in the opposite direction. This way
the movement will be kept to a minimum.
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I
= Current
........ Velocity
=== Position [

Vibratio
I pulse

vibration
period

Figure 6: Movement during one vibration pulse

This is done with a vibration pulse. Such a pulse is shown in figure 6. During a vibration
pulse the translator will move in a positive direction and back and the other way around.
The total amount of movement will be determined by summing the four surfaces.

The result of one vibration period is,

RESULT = Surfl — Surf2 — Surf3 + sur f4 (11a)
RESULT = (p1 — po) — (p2 — p1) — (p3s — p2) — (pa — p3) = 2p1 — po — 2p3 + P4
(11b)

Assume that [ is large enough to overcome the friction then there are three possibilities,

1. cos(p—¢)=0
Then

Po=p=p2=p3=ps=0 } RESULT =0
2. cos(p—¢) >0

Po = Do

pr=po+A

P2 = Do RESULT=2p0+2A—p0—2p0+2A+po=4A
ps=po— A

P4+ = Do
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3. cos(p—¢) <0

Do = Do

p=p—A

P2 = Do RESULT=2p0—2A—p0—2p0—2A+p0=—4A
Ps=po+A

P4 = Do

The incremental encoder registers position movement with accuracy of micrometers as
shown in table 2. To be sure that the position movement is caused by the applied force
and not by current noise or mechanical vibrations a threshold detection level is considered.
It means that the absolute movement has to be of a certain level in positive or negative
direction. With this knowledge with a high degree of certainty it can be said that the
motor has moved due to the applied current.

The alignment procedure makes use of these vibration pulses. When looking at the relation
in equation 10b it shows that the total force depends on the offset position p, the current
offset angle ¢ and the current amplitude /. When used the vibration pulses the position p
of the translator will practically stay the same. So, by manipulation ¢ the zero crossings in
the FPP curve (figure 5) can be found. The alignment procedure is based on this relation.
The complete alignment procedure consists of five procedures and will now be explained
in more detail.

1. Safety regulation
During the whole process a couple of factors will be monitored. We make sure that
the maximum speed, position and current are not exceeded. When these factors are
exceeded the procedure will make an emergency stop. Which means that the currents

will be set to zero, the current amplifier will be shutdown, and the controller will be
disabled.

2. Test procedure

The purpose of this procedure is to test if the motor moves. A vibration pulse is
send trough the coils with a very small I and a & of zero. When no movement is
detected it can be that cos(p — ¢) =~ 0 or I is to small to overcome the friction. So
the next vibration pulse ¢ will be increased by 90° and I will be increased by twenty
percent. If motor movement is registered during three vibration periods with the
same ¢ and /, the test is completed successfully. Now, the zero search procedure is
started. When the test fails the alignment procedure will be aborted.

3. Zero search procedure
Looking again at equation 10b and figure 5 the total force is related with a cos func-
tion. The zero search procedure will find by means of an iterative procedure the
point where no force is generated. Now p + ¢ = %77 + km where k is a real integer.
When the ¢ is found the maximal force can be found by increasing or decreasing
with 27 to find the maximal positive or negative force. The iteration process will be
explained with a numerical example.
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Example:

(a) Assume for a certain current angle ¢,(p + ¢) = 30°. Taking the conditions
assumed in figure 7a. The force will be positive so a positive position move-
ment is calculated after one vibration pulse. Now the current angle ¢ will be
incremented by d¢ = 90°

(b) So (p+ ¢) = 120°. Looking at figure 7b a negative force is generated. Now the
new ¢ will be decremented with d¢ = %d(j) = 45°.

(c¢) Now (p+ ¢) = 75°. According to figure 7c the force is smaller then the friction,
no movement will be detected. Now the / will be increased by 20% shown in
figure 7d.

(d) During the next vibration period positive movement will be detected. Again a
new ¢ will be calculated d¢ = %dq‘) = 22.5°.

(e) When during the following vibration pulses movement is detected the ¢ will
increase or decrease by %qﬁ according the positive or negative position detection.

When no movement is detected / will be increased till 50% of the maximal
motor current is reached.

Figure 7: Zero search

4. Homing procedure

The final part of the alignment procedure is moving the axis to it’s zero position.
The zero position is indicated by an index signal or just the minimal position of the
total range. A constant amplitude I is fed to the linear motors. I is chosen to be
just large enough to overcome the friction. When the index signal is detected the
incremental encoders will be set to zero and a corresponding current angle will be
calculated. Now that the relation with the position and current angle is known the
robot is ready to be controlled. The homing procedure will go trough the following
procedures.
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(a) Homing status = 0
Because it isn’'t known which zero point at the FPP curve (see figure 5) is
found it is unknown in which direction the motor moves when feeding it with
a positive current. Obviously it is useful that a positive current relates to a
positive movement. So a small vibration pulse is made with a positive current.
When a positive movement is detected we can proceed. If a negative movement
is detected ¢ will be corrected with 90°.

(b) Homing status = 1
Wait until the motor has stopped moving.

(c) Homing status = 2

i. With an index pulse
The motor will move to the beginning of the axis and the next part of the
homing procedure is called.

ii. Without an index pulse
The motor will move to the beginning of the axis and the homing pro-
cedure is finished. The incremental encoders will be set to zero and the
corresponding ¢ will be calculated.

(d) Homing status = 3
The motor will move very slowly to the other side of the axis. When the index
pulse is detected the Homing_status is set to 4.

(e) Homing status = 4
Wait until the motor has stopped moving.

(f) Homing_status = 5
The motor will move as slow as possible to find the index pulse again. When
the pulse is detected the incremental encoders will be set to zero and the corre-
sponding ¢ will be calculated.

5. Ready procedure
When the alignment is successfully completed the software will come in its ready
state and will stay in this routine. It keeps on controlling the safety regulation and
will send an enable signal to the controller.

The alignment code can be found in the appendix A.




4.2 Alignment procedure

16.

. @ v
Homing_status=0 >———————-—---,
NO

Positive current
Start Positive movement
Test T
- = - PR

’ v
I Vibration I i
T ; Homing_status=1 > - = - .
: I Walt to standstil ]

|Result| >
detection_level

Index pulse
avallable

Homing_status=2

Emergency_stop Test_count=3 s
P
YES
Start Homing_status=3 o e ————
Zero_sea!

Find index slow
speed

; -— e
|
|
(Result<0 && \ Homing_status—4 —
. previous_result-0) NO |Result] < |
. [l(Result>0 &3 detection_level ! i "
‘ previous_result<0) | I Wait to standstill I
| [PEE— S
; : YES
dé=%dé Homing_status8 >————————
; | Find index ultra slow
e speed
b4
b4
Result < 0 NO
| Homing_statug=6 > - —--omom—--
| YES
| Y v I Wait to standstill I
i =% dé | | di= 1% db |
i Start
Y Homing

Start
Homing

(a)

Figure 8: Flowchart alignment procedure
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4.3 Modeling

In this paragraph the models of the motors will be made. This models will be used for
simulation and later on for the estimation. For modeling a the motors a first order principle
model will be made. This is done with the known physical relations of the dynamics of the
motor. We are interested in the relation between the current and the movement. So this
will be modeled.

The linear motor used for the x-axis can be seen as a moving mass due to a certain force.
Note that the motor mass m experiences friction D. We get,

F—Dv=ma (12)
Where v is the velocity and a the acceleration.

F—Di=mzg (13)
Where x is the position.

The relation between the force and the current can be found in equation 10b. The re-
lation between the current and the position is given by,

D m
[ = L 14
K STx, " (14)

The transfer function for the model is,

Ky

z
P = =~
(5) I m-s24D-s

(15)

The y-axis uses a rotating motor. This can be modeled the same way. The angular force
that cause rotation is called torque(T). The rotating mass will be modeled with moment
of inertia(J). Which can be seen as the mass in basic dynamics. Here also a the rotation
experiences friction(D). So the following physical relations will hold.

T~ Dw = Ja (16)

Where w is the angular velocity and « is the angular acceleration.

T—-Df=Jb (17)

Where 8 is the angular position.

This rotation is converted of a linear movement due to a spindle. One rotation results
in a movement of 3 centimeter. This is called the gear ratio (K,.). So the gear ratio will
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be 0.03

27

So the transfer function of the y motor will be,

P(s) =2 _ KK (18)

I J-s24+D-s
For simulation the D is replaced with a coulomb & viscous block. Coulomb friction repre-
sents the offset friction and viscous represents the friction of the mass. This way a more
accurate model is realized. Also a quantizer is added to simulate the behavior of an in-
cremental encoder and a saturation block is used to constrain the position. The speed
is calculated to determent the covered distance in one sample time. This results in the

following models. The motor for the x-axis can be found in figure 9 and the motor model
for the y-axis in figure 10.

T gl " of - Ty )
Tl = i —
Quantizer Saturation

Coulomb &
Viscous Friction

Figure 9: Simulation model of a motor X-azis

NN Ty
e T " pls
Quantizer  Saturation v
>
Coulomb & Memory

Viscous Friction

Figure 10: Simulation model of a motor Y-azis
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4.4 Coulomb and viscous friction

The coulomb and viscous friction can be determined by driving the motor at different
speeds. At every speed the used force is determined. From the linear relation between
the speed and the force the viscous friction can be determined. The force at a velocity of
zero is the coulomb friction. This is also called the offset friction. The measurements for
determining the coulomb and viscous friction from the x-motor and the y-motor are shown
in figure 11. The values are shown in table 5.

Coulumb and Viscous friction Coulumb and Viscous friction

1.5 . 0.1
) /6/0/ - 0.05t L L : | & :
05 : - =
1 Z
g 0 g O
w [+]
-05}- o -
-15- ' — B e . ‘ ]
~0.5-0.4-0.3-02-0.1 0 0.1 0.2 0.3 0.4 0.5 “10pi —6pl -2pi O 2pi 6pi  10pi
Velocity (m/s) Velocity (rad/sec)
(a) Coulomb and viscous friction X-axis (b) Coulomb and viscous friction Y-axis

Figure 11: Coulomb and viscous friction

4.5 Simulation alignment procedure

With the model as described in chapter 4.3 the alignment procedure can be simulated.
The simulation is done in simulink. The simulink file that is used is shown in figure 12.
The alignment from the x-axis and the y-axis doesn’t differ too much in amount with the
procedure of the x-axis. Therefore only the y-axis alignment procedure will be explained.
The alignment procedure is implemented in simulink as an S-function. This is shown in
figure 12 as the block called alignmentY . This block has four inputs. Looking form top
to bottom the first two are the measured position and the calculated speed. Also the
index signal, when available, must be known for the homing procedure. The last one is
the starting signal for alignment procedure. The alignment procedure has 8 outputs. The
first two outputs are the calculated phase currents depending of ¢.

This will be calculated by equation 5b. The third phase current will be externally calculated
by the current amplifier. For simulation this is added by the model. Besides generating
the phase current, the alignment procedure is also responsible for resetting the incremental
encoder. It is capable of enabling and disabling the current amplifier and the controller.
The output StatusY shows in witch routine the alignment procedure is currently running.
The output debugY is for debugging purposes. This way a variable can be observed during
simulation. The last output is the determined ¢ in relation with the unknown position.
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Start
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Figure 12: Alignment procedure scheme in simulink

Now we look at the sub block 'Yaxis’ shown in figure 13. As input we have 2 phase
current depending on ¢ from the alignment procedure. The relation between the force and
the current is shown in equation 7a. This relation is used to determent the generated force.
This is depicted in figure 13. So the relation between current and force is implemented.
Also is shown how the third phase current is calculated. The relation between force and
position is determined in subsection 4.3. The found relation for the used axis will be added
in sub block 'Force — position’. These relation can be found in equation 15 and 18 and
are depicted in figure 9 and 10.
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Figure 13: Model Y-axis

The used parameters for simulation can be found in table 5

Table 5: Model parameters

Model parameters Y X

Motor constant (K;) [ 0.11 Nm/A.; | 11.4 N/Auyy
Gear Ratio (K,,) %% m/rad -

Moment of inertia (J) | 5.0"°kgm? -

Mass (m) - 0.6 kg

Tau (1) 3.75 S m 825 = m
Viscous friction 4.0 = Nms/rad | 0.6 Ns/m
Coulomb friction (D) | 5.0 2 Nm 11N
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Figure 14: Alignment results

In the subfigures of figure 14 the simulation result are depicted. First we see in figure
14(a) three vibration pulses which will detect if the motor actually moves. When three
movements are detected above the threshold the test is completed. Then the zero search
procedure start. In this case the maximal current of the motor is 20 A. For this procedure
the maximum current is restricted up to 8 A. When 8 ampere is applied and no movement
is detected the procedure is finished. In figure 14(b) you can see that the current increases
and the movement decreases. Till ¢ = p. In figure 14(c) the corresponding ¢ is plotted.
Here the iteration process is nicely displayed. At the end of the zero search you see that ¢
is incremented with 90°. So the maximum force will be used. From the final picture }4(d)
can be concluded that the alignment procedure is finished successfully. A constant [ will
result in a linear movement.
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4.6 Implementation dSpace

To connect the PC with the pick and place machine the same simulink file is used as shown
in figure 12. Only the model in sub-block Yaxis will now be replaced with the real system.
To communicate with one of the axes 4 ports of the dSpace 1/O system are used. This is
shown in figure 15. These are 2 digital to analog convertors (DAC), one pin of the digital
I/O port and the incremental encoder port.

>

cument2volt volt dSpace gain DS1104DAC_C3 IM2pos

pos RM

Enc data position

|

vel RM

DSTI04ENC_POS_C1 deountzvel

curent2voitt  voitl dSpace gain1 DS1104DAC_C4

boolean
enc_tesst RM Data Type Conversion2
ENCODER
SET POSITION
DS1T04ENC_SET_POS_C1 double index M2
DST104ENC_HW_INDEX_CT index Conversiont
4 boolean MASTER BIT OUT ENCODER
e _ MASTER SETUP
Data Type Conversion3 DST104BIT_OUT_C

DS1104ENC_SETUP
Figure 15: dSpace interface to one azis

First we will explain the two DAC’s. The current amplifier needs two reference signals to
generate the three phase current. For this the two DAC’s are used. In front of both DAC’s
we see a current2volt gain, a block called volt and a dSpace gain. The current2volt gain
will scale the desired current to the right voltage reference. The current amplifiers work
with a 0 to 10 Volt current reference. So in case of the x-axis 10 Volt must represent the
maximal peak current of 3.3 Ampere. So the current2volt gain will be 2%. The peak

3.3
current of the y-axis is 11 Ampere so here the gain will be %. The blocks volt will limit

the current.

Further has dSpace one peculiarity. If simulink sends a reference of 1 Volt to the DAC,
the dSpace 1/0 panel will send out 10 Volt. To fix this the dSpace gain is introduced.
The third input is the incremental encoder reset signal. This is a part of the incremental
encoder port. Because the dSapce panel can’t process a variable other then a boolean the
variable from the S-function needs to be converted to a boolean. When this signal is high
the incremental encoder will be reset to zero. The final input is to enable the amplifier.
This variable is for the same reason converted to a boolean and sets one pin of the digital
I/O connector. This will enable the current amplifier.
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One of the outputs is the position. The position will be determent by the available in-
cremental encoder on the I/O panel. The incremental encoder contains a counter that
will be incremented or decremented by one with a specified accuracy. For the x-axis one
count represents 0.5um and for the y-axis 1.5um. The count2pos gain will convert the
counted position movement to the corresponding movement expressed in meters. The gain
dcount2vel will calculates the speed by determining the movement in one sample. Output
number three represents the index signal. This signal will be high at some point of the
axis. This way the actual position can be determent. This boolean will be converted to a
double so it can be read by the S-function during the alignment procedure.
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5 Controller design

In this chapter we will go through the design of the controller. For both motors a different
controller will be designed. We clarify the way the the controllers are designed and show
the transfer function of the controllers. Also the accuracy of the controls will be tested.
The results of controlling the system models and the actual plant can be found in this
chapter.

For designing the controllers a frequency response design method is used. First an appro-
priate bandwidth of the total transfer will be determined. This we will call B, and the
open loop magnitude at this frequency must be 0 dB.

The bandwidth will be determined by looking at the bode plots supplied by Assembléon.
These are results from a series of tests Assembléon has performed on their pick and place
machine. The results can be found in appendix B.

In the plots the resonance frequencies of the system are exposed. From this we can derive
till which frequency the plants can be controlled. It shows that the controller for the x-axis
has a clean response up to a frequency 50 Hz and the controller for the y-axis has a clean
response up to a frequency of 100 Hz.

The machine that we will use during this experiment is only one arm of a pick and place
machine. This arm stands up side down and is not nailed down. That’s why a less high
frequency controller will be designed. The controlled closed loop system of the x-axis will
be designed with a bandwidth up to 30 Hz. The closed loop controlled system of the y-axis
with a bandwidth up to 70 Hz. The bandwidths and the corresponding sample times can
be found in table 6.

First a phase lead compensator will be designed around the bandwidth. This will improve
its phase margin and will increase stability. A rule of thumb advices to place the pole at
three times and the zero at one third of the bandwidth(B.). A roll-off pole will be added,
which makes the system insensitive for higher frequencies than the desired bandwidth(B,).
This pole will be placed far away so it will not interfere with the lead filter. Here the rule of
thumb advice to place the pole at six times the bandwidth(B,.). To guarantee that the final
error and the steady state error will be zero an integrator is added. Finally an additional
zero will be added symmetrically around the lead filter, to prevent interference and the
lead filter. This zero will be placed a sixth times the bandwidth(B,). So the different parts
of the controller are shown in equations 19, 20 and 21.

S— 21
H = 19
ale) = =2 (19)
Hroteos 5(8) = — (20)
roleof f s — Pg
Hi(s) = —= (21)
This leads to the following transfer function of the controller, designed,
s—2)-(s—2z
Hcontroller(s) = Kc . le ‘ Hroleoff . Hz = Kc ( 1) ( 2) (22)

s-(s—p)-(s— Do)
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The pole and zero for the lead filter will be placed around the bandwidth (B.) with the
relation

The roll-off pole has the following relation with the bandwidth (B.) and zero will be placed
symmetrically

b2 = Bc -6 (243‘)

K. will be chosen in such a way that the open loop magnitude is 0 dB at the w = B..
The total transfer function of the controller will have the form,

24 B . B2
s+ SF s+ 3

H.s) =K,
(5) 83+9-B.-s24+18-B2:s

Table 6: Bandwidth

Motor axis | Bandwidth (B.) | K. Appropriate T,
Y 420 o 6.610° [ ~ -5 =3-10°
X 240 £ 1410° | ~ g = 5107
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Bode Diagram Bode Diagram
200 i : 200
- - - -openx
100 e —closed x 100
- Tl - - plant x

~-100 -100

-209 ; : - -20
B
: -90
-180—= = - - T\*xjy—’:jkmﬁi_ -180
—270t oo . -270

Magnitude (dB)
(=]
Magnitude (dB)

(=]

Phase (deg)
1
©
o
t
t
Phase (deg)

10° 10° 10* 10° 107 10
Frequency (rad/sec) Frequency (rad/sec)
(a) Bode plots X-axis (b) Bode plots Y-axis

Figure 16: Bode plots controllers

The plots show a clean closed-loop response of 0 dB up to the desired bandwidth. For higher
frequencies the gain will decrease so the system will be insensitive for higher frequencies.
The the controlled closed-loop system of the x-axis has a phase marge of 61° and the
controlled closed-loop system of the y-axis has a phase marge of 77°, which is satisfying.
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5.1 Position en Speed Trajectory

Assembléon will use a trajectory profile to move the axes to the specified position. For this
study a third order reference trajectory design tool for Matlab/Simulink/RTW R11/R12
is used. This tool is developed by dr.ir. M.J.G. van de Molengraft (René).

With this tool it is possible to generate position profiles with a desired speed, acceleration
and jerk. Also it is possible to give in a start time. This is suitable for synchronization
purposes.
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Figure 17: Trajectory profile generator
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5.2 Simulation of the controllers

The total simulink simulation scheme is shown in figure 18. This scheme doesn’t differ
much from the simulink scheme from figure 12, which was used for simulating the alignment
procedure. Comparison shown that in figure 18 two blocks are added: block ‘Controller X’
and block 'Inter face'. In this section these blocks will be further explained.

interface Xaxis
aurrant

pos iu LM1 "™ l:l

pos
P phi v curent out
iq controller WiMA posx
™ controlier snable

vel LM 1 >

g
-4

enc_resst LM 1

Enable amplifierX
align _rens_model _X
R |

alignmentX
] ConirollerX
m > Enablex

Stop StatusX

et = o

Start " pos
— o5

Radians phix
to Dagrees 1

[0

index LM 1

g

A

Figure 18: Simulink simulation file with controller

The first block that is added contains the controller and is called 'ControllerX’. The
designed controller found in equation 25 and can be worked out to the following relation,

1 B1 B?1
y=—9Bc;y 18B2 2y+K( Ut Ut e u) (26)

This representation is implemented in simulink and is shown in figure 19.
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Figure 19: Controller in simulink

The block 'Re f3' is responsible for the position profile. The position profile will start when
the alignment procedure is finished and the controller is enabled. The position stays not
zero during the alignment procedure. To prevent unwanted turn-on transients the states
of the controller will be kept zero due to the two switches.

(20 %
O
pi/tau Product Trigonometric LMt
GoO—— Function Product 1
© :
Trigonometric —‘
Function 1
phase offset
o
iq controfler 2
(@D >
controller enagle uv current out
G

uv current Switch

Figure 20: Sub-block inter face

The second block that is added is called ‘inter face’. This block is shown in figure 20.
Notice the output currents are dependent of the controller enable signal. If the controller
is not enabled, the currents from the alignment procedure are used. As indicated before
the alignment procedure generates the I with the corresponding flux depending on ¢. The
controller only generates /. When the controller is enabled this part must be added to
the current. This is done is sub-block ‘inter face’. Here is shown how the corresponding
coupled flux depending on the determined ¢ and position is added to the current.
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Figure 21 shows the results of the simulation. For both systems a different position profile
is generated. The simulated error is determined with the model described in subsection
4.3. We see that the overall error stays within the 40pum margin. The 40pm margin is
shown as the dotted line.
We see that for the y-axis the overall error stays within 40pm. This is the accuracy As-
sembléon guarantees on their site. For the x-axis we see a small peak above this border.
This occurs by acceleration en is due to the viscous friction. These worse results can also
be imputed to the difference in bandwidth of both controllers.
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Figure 21: Simulation results controller
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6 Design an observer compatible delayed position in-
formation

Before we can designing a good observer we need a good model of the system. In the first
subsection of this chapter will describe how this model is found. In subsection 6.2 we see
how an observer can be designed capable to deal with delayed position information. In the
following subsections shown 8 observer’s, 4 for both axes. Each capable to handle different
delay’s in the position information.

Further the stability of the observer will be analyzed. Finally you can find some results of
the accuracy of the observers in practice and it’s sensitivity for noise.

6.1 Full order estimator

The full order estimator contains a model of the motor with the corresponding controller.
With this a representation of the dynamics of the overall plant will be made, which is used
to make a good estimation of the system states can be made. The system will be described
in the following notation,

t=A-z+B-u (27)

y=C-x (28)
With A=nxnB=nxmC=mxn

The transfer function of the model of the motor was described in equation 15. The transfer
function of the controller is given in equation 25. When the two systems are combined the
following scheme is obtained.

Input(u) will be supply with the position profile and the output(y) will be the position
estimation.

u
Ke

Controller Plant X-axis

Integrator 2 Iniegrator 3 Integrator 5

18842

Figure 22: Combining Controller en Model
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The theorems that are used can be found in the articles [2, 3].
The observer equation can be described as,

3(t) = Ad(t) + Bu(t) + K(y(t — rT,) — §(t — T})) (33)

With K = n x m and r is a positive integer representing the delay expressed in number of
samples.

This can be written to,
#(t) = A&(t) + Bu(t) + KC(z(t — rT,) — 2(t — rT,)) (34)

Assume that the real system is equivalent to the model then the error between the real
states and the states of the observer can be defined as,

£(t) = =(¢) — 2(t) (35)
The derivative of the error can be described as,
£(t) = £(t) — 2(t) = A&(t) — KCE(t —rTs)) (36)

where the delayed error will be available from impulsive samples subjected to a delay of r
samples [37],

£t —rT,) = i&(t—rTs)é(t—kTs—rTS) (37)

k=—r

which will result in the general solution,

=]

§(t)= Ay — Y AHTTTIKCE(RT,) (39)
k=—r
where,
Er=8nn=...=81=&

&o = initial value of the error

. ¢
’Vi-‘ = largest integer nummer less then T

It can be shown that,just before the sample moment, the observer error satisfied the fol-
lowing relation,

(i + DT)) = e*E(iT,) — AT KCE(i — )T;) (40)
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Introducing the next variables,
wj(i)zgj((i_r-i_j—l)Ts—)a 1=1,2,3,...,7+1 (41)

which can be captured in the following matrix,

- e - - - -

wy(i+1) 0 10 ...0 wi (1)
: =|: P ok (42)
wr(z + 1) 0 00 ... 1 wy(7)
B w1-+1(7: + 1) | | —EAT’KC 0 0 ... eATs i | ’LUT+1(Z) |
Where K is a vector with the dimension n x m.
This system is depicted in figure 25,
wii) | 4 |wal) 10 1 ﬂ‘ 1 e
z wi(i+1)] 2 [wy(i+1) Z z
Q Wea(i+1) | 1 | Wea(i)
z wi(i+1)
Figure 25: Error system observer
Now the following relation is obtained,
w(i+1)=H-w() (43)

Now we have a mathematical solution of the problem. To guarantee a stable observer the
eigenvalues H must lie in the unit circle.
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To find the relationship between K and the poles of the system, the characteristic equation
will be studied.
The characteristic equation of the error is given by,

Py =det[\] —H] =0 (44)

N
P, = det[}\r+11 — A\"eATs 4 eATch] — Z,yj)\N—j - (45)
=0
Where N = n(r+1)

This can be rewritten as,
eATs . KC |
Ar(A — eATs)

We assume that K is of rank one. Following an approach similar to that of Gopinath [4],
46 can be simplified to,

P; = det[\"(M\] — eAT*)] - det[I + (46)

AT L P €AT’ KC
— nr 47
Pd A P+t7‘< )\I—GAT” ) ( )
Where tr denoted the trace of the matrix, and,
P = det[]\] — e*T] = a A" (48)
i=0

is the characteristic polynomial of the observer dynamics shown in equation 27 and 28,
Noting that,
()\[ . eATg)—l — Z(eATs)l)\—(l+z’) (49)
1=0
outside an appropriate region in the complex plane. And using the Calley-Hamilton theo-
rem [5], we equate of AN "? on both sides of 47 and we get

Yo = Gp O<p<r (50a)

Vp = ap +tr Z Z ak(eATs)lQ:I r<p<n+r (50D)
k=0 1=0 k+l+1=p—r

Y% =0 n+r<p< N (50c)

Where @ = eAT: KC We want to find the values of K so this system is stable and the error
will decay to zero. The more delays the more coefficients of gamma will be fixed. Where
v are the coeflicients of the characteristic equation of 45 and a; are the coefficients of the
characteristic equation of the observer system described in equation 27 and 28. This only
holds when K is of rank one. Also notice that the more delays the slower the system will be.
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6.3 Poles of the Observer
6.3.1 Observer with No Delay

First an observer is designed with real time position information. The poles of the error

system can be placed free in the unit circle.

The poles will be placed as 10 times the

bandwidth as proposed in [5]. So five poles will be placed according,

(51)

The ~’s of the error system can now determined from Hyesireq and relates as follows with

1
Haesired = (Z _ e-lO*B*Ta)S
the system,
Yo = ao

" = ay + tr [ag(e2T*)°Q)]

Yo = ag + tr |ag eAT") Q+a (e AT, OQ]

ATB

Y4 = aq4 + 11 |ag eATS

[ao(
[ao(
Y3 = as +tr [ao(e
[ao(
[ao(

Because Q = eA4Ts

2Q + a,
3Q + ai(e

(
(e*
(e*
(

Ts

)
5)1Q+a ( ATs)OQ}
)
)?

found. For both axes they can be found in table 7.

2Q + ag(eAT*)'Q + as(e
v5 = as + tr |ag eAT" Q@+ aile AT @+ as ( ATS)2Q+G3(6A

TS)OQ]
Ts)lQ + a4(eATa)0Q}

Table 7: Found K’s for zero delay
X axis Y axis
7.2.10° 4.9-10%
1.8-107 1.2-108
K,.=| 29108 K,=| —4.3-10®
4.6 - 102 6.2-10*
1-10° 2.1-10?

KC the K can be determined. After some calculation the K can be

It is also possible to place them on the imaginary-axis but that wasn’t improving its per-
formance. Almost a dead beat system is realized. This means that the error converge to

zero in one sample time.
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6.3.2 Opbserver with One Sample Delay

In this section the gain K of an observer will be determined in case the position information
undergoes a delay of one sample. First we work out the found algorithm from sub-equation
from 50.

Yo = ao (53a)
M=o (53b)
Yo = ag + tr [ag(eT*)°Q] (53c)
vs = az + tr [ag(e*T*)'Q + a, (eAT*)° Q] (53d)
Yo = aq + tr [ao(e*T*)2Q + a1 (e2T°)'Q + a2 (e*T*)°Q)] (53e)
vs = az + tr [ao(eT*)2Q + a1 (eAT*)?Q + a2(eAT)'Q + a3(e*™*)°Q)] (53f)
Y6 =0 +tr [ao(eAT)*Q + a1(eAT*)°Q + a2 (€A™ )Q + a3(eA™)' Q + aq(eAT)°Q)]
(53¢)
Yr=Y%=7Y=Y0=0 (53h)

According to these relations we see that 5 extra poles need to be placed. Four of them
lie at the origin. Also a new constrain 53b is added and we have less freedom in the pole
placement. This constrain implies that the first term of the characteristic equation of the
error system -, must correspond with a; the first term of the characteristic of the system
dynamics. The first term of a characteristic equations contains the sum of all poles. We
want to realize a fast system so the error converge rapidly to zero. So we want to place
these poles as far as possible on the left side of the right half plane of the unit circle. Now
the poles of the error system can be determined. It would be obvious to divide a; by 6 an
the place of the poles are known.

1

H, .. L —
desired (z 5 %)6 A

However now we forget a great part of the unit circle namely the imaginary part. The
error can converges faster to zero when placing the the poles on the imaginary axis.
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Figure 26: Pole place indication error system

The constrain will still hold a pole pair is placed on the vertical line shown in figure 26.
By taking the the sum of such a pole pair the imaginary part will be canceled. To find a
better solution the poles need to be placed on the vertical line. So there is still a lot of
freedom for pole placement.

When placing all the poles on the real axis the system will comparatively react slower than
when placed high on the imaginary axis. An impulse response is used to find the settling
time. The pole placement is shown in figure 27 and the corresponding settling times can
be found in figure 28.
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Figure 27: Pole placements with one delay

When placing all the poles high on the imaginary axis but just within the unit circle a lot
of overshoot will occur. This results in a fast system but due to the overshoot we still have
a large settling time. This is shown in figure 28 as the system H2. A compromise needs
to be made. When we place 2 poles on the real axis causing no overshoot and placing
two pole pairs on the imaginary axis causing overshoot the error converges faster to zero.
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The real poles are still capable to correct the overshoot. This is shown in figure 27(c) and
depicted in figure 28 as system H. This results in a faster system to correct the initial
error. The pole placement for the x-axis is shown in figure 27. The corresponding impulse
response is shown in figure 28(a). The poles off the y-axis have the same structure and the
impulse response in shown in figure 28(b).
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Figure 28: Impulse Response with one delay

Now the place of the poles are determined, the «’s from the sub-equations 53a can be
calculated. The corresponding gain vector K can be determined with the fact that Q) =
eATs KC. In table 9 the feedback gain vector K for both axes are shown.

Table 8: Poles error system with a delay of one sample

j X axis Y axis

P1 P2 0.4137 0.1876

P3 P4 0.4137 £ 0.2i | 0.1876 £ 0.2i
Ps Pe 0.4137 + 0.4i | 0.1876 £ 0.4i
P7 Ps Po P10 | 0 0

Table 9: K for delay is one sample

X axis Y axis
5.7-10% 3.6-10%
6.7 - 10% 3.4 - 101
K, = 1.0 - 108 K, = 3.1-107
-1.2-10% —3.3-107
7.9-10° 1.4-10*
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6.3.3 Observer with Two Samples Delay

In this section an observer with a delay of two samples determined. A consequence of the
additional delay is that the system will be slower. An indication of the slowest pole is
known. It must be on the right side of the horizontal line shown in figure 26(a) and 26(b).
We will look now again at the algorithm. The equations can be written as follows,

Yo = ao (54a)
Nn=a (54b)
Y2 = a2 (54c)
Y3 = az + tr [ao(eAT’)OQ] (54d)
V4= Gq +tr [ao(eAT’)lQ +a; (eATs)OQ] (54e)
Y5 = a5 +tr [ag (€2T)2Q + a1 (e2T*)'Q + ap (eA)°Q)] (54f)
Yo =0 +tr [ao(eA™)’Q + a1(eAT)?Q + ax(e*)'Q + a5(e*)°Q] (54g)
=0 +tr [ao(eAT’) Q + a,(eAT)3Q + a3(e2T)2Q + as(e*T)'Q + a (eATs)OQ]
(54h)
Ye=Yo=Y10=1=Y12=V13= Y14 = Y15 = 0 (54i)

Notice that now two constraints must be fulfilled and 5 extra poles need to be placed
compared to the system with one delay. Eight poles will be placed in the origin (see
equation 54i). To place the other seven poles constraint v, = a; (eq.54b) must still hold.
v is again the sum of all poles. Beside that the second constraint v, = as (eq.54c) is
added. When we now divide a; by seven the first constraint will hold. The sum of the
poles will correspond to al but the second constraint will not hold. When we look at the
place of the poles we see that they lie on the left side of the horizontal line in figure 26.
This mean the system will be faster, which is not feasible because an extra delay is added.
The system can’t be faster. When placing the poles symmetric on the left and on the right
side of the horizontal line from figure 26 a solution can be found that hold the constraints.
Only by found solution the poles lie outside the unit circle, which will result in instability.
When placing one pole on the left half plane of the unit circle and the other poles just
across the horizontal line a nice solution can be found. The poles will have a minimum
exceeding to the right side of the horizontal line. So the system speed will be minimal
slowed down. The one pole on the left half plane can be seen as a correcting pole to make
the sum according constrain from equation 54b. This pole has hardly any influence on the
dynamics of the error system.

The solution placing all the poles places on the real axis will be determined. These can be
found with solving the following relation,

1
(z—}- (%L - c))6 (24 (6c)) - 28

constrain 54b is satisfied and constrain 54c can be met with the factor c.
In this case the poles are placed on the real axis, leaving room for improvement.

H, desired =
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In figure 29 the pole placement for the x-axis is shown. This placement is also representative
for the y-axis. In figure 29(a) we see the poles placed on the real axis. This corresponds
with system H2 in figure 30(a) and 30(b) respectively to the x- and the y axis. In figure
29(b) we see the pole placement on the imaginary axis, which is system H3 is the sub-
figures from 30. The final plot 29(c) is the improved pole placement and correspond with
system H in the sub-figures in figure 30. Notice this system has the fastest settling-time.
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Figure 30: Impulse Response with two delays
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The poles for this solution can be found in table 10. The calculated feedback gains are
shown in table 11.

Table 10: Poles error system with a delay of two samples

P X axis Y axis
P1 -0.5238 -0.7846
P2 P3 0.5010 0.3183

P4 D5 0.5010 £ 0.2i | 0.3183 £ 0.2i
Ps D7 0.5010 + 0.4i | 0.3183 £ 0.4i

P ---P15 | O 0

Table 11: K for delay is two samples

X axis Y axis
6.7 - 108 1.5.1011
1.5-10° 1.9-10%
K, = 2.2-108 K, = 1.7-108
—-2.6-104 —-1.8-108
1.7 - 10t 6.5 - 10*
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6.3.4 Observer with Three Samples Delay

The way as before the feedback gains for a delay of three samples are determined. Again
a new constraint is added. Now there is a total 3 constraints. The first constrain will
be satisfied with the pole placement. Now there are two constraints left so there will be
two factors to fulfill these constraints. The following pole placement structure will be used
with the factor b and ¢ to determent the «’s of this error system. A solution is found with
poles that have a minimum exceeding of the horizontal line from figure 26. And all poles
lie within the unit circle.

1
(z-i—(%l—c))6~(z+(3-c+b-i))o(z+(3'c—b-i))>~z12

H, desired — (

Afterwards the five poles on the right side of the unit circle will be distributed again over
the imaginary axis. Again from three systems the settling time will be compared. The
system H?2 is the system with the poles on the right side of the unit circle on the real axis.
H3 has all the poles on the right side of the unit circle on the imaginary axis. System H
is the found compromise. The pole-placement is visualized in the sub-figures from figure
31. Here we see the pole placement of the x-axis error system. This is corresponding to
the pole placement structure of the y-axis error system. The impulse responses from both
systems with respect to the pole placement are shown in figure 32
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Figure 31: Pole placement X two delay




6.3 Poles of the Observer 47.
Impulse Response Impulse Response
6 2
4t 1.5¢ i
[ ) 1r
g 2 g ]
£ - = \
g' i!'é.ngj#ﬁn (sec): 0.108 g' 0.5 | jom: H2
< 0 H mmig .l d * < | Setting Time (sec): 0.0827
mﬁr(m)zo.oaes! 1 ;m:ng'#:n(m):oma O=======nin o 2 ;ﬁ:zé::::.:
LLr! [ : : Setling Time (sac): 0.10‘5
- 1 [
2 ! i -0.5 o
i [ [
4 P , 1 , i
0 0.05 0.1 0.15 0 0.05 0.1 0.15
Time (sec) Time (sec)

(a) Impulse response X

(b) Impulse response Y

Figure 32: Impulse Response with thee delays

The exact poles pole-placement and the calculated feedback gains can be found in the

tables 12 and 13.

Table 12: Poles error system with a delay of three samples

Py X axis Y axis
D1 P2 ~0.4233 + 0.46101 | -0.6075 = 0.5601i
Ps Ds 0.5548 £ 0.2i 0.3901 £ 0.11
P7 Ps 0.5548 £ 0.4i 0.3901 £+ 0.3i
Py ---p2 | O 0
Table 13: K for delay is three samples
X axis Y axis
4.8-108 2.1-104
1.1-10° 2.7 - 104
K, = 1.7-10¢ K, = 2.5 108
-2.0-104 —2.6-108
1.3-10! 9.0-104
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6.3.5 Observer with Four Samples Delay

With a delay of four samples there a fourth constraint will be added. The first constrain
will again be fulfilled with the pole place structure. Now there are three unknowns which
have to satisfy the remaining three constraints. For determining the pole placement the
following pole place structure is used.

1
(z—i—(%’-—c))G-(z—{—(a:-c—{—b-i))-(z—}—(:z:'c—bw'))-(z—{—(6—2-a:)-c))-z16

H desired = (

The poles found for the x-axis are shown in figure 33(a). Here again the poles will be
distributed over the imaginary axis. The final pole placement is shown in figure 33(c).
The corresponding impulse response in shown in figure 34(a). The impulse response of the
error system of the y-axis is shown in figure 34(b).
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Figure 33: Pole placement X four delays
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Figure 34: Impulse Response with four delays

Table 14 and table 15 show the calculated poles and the calculated feedback gains for a

system that uses 4 samples delayed data.

Table 14: Poles

error system with a delay of four samples

o X axis Y axis
P1 -0.7154 -0.8402
P2 P3 -0.1959 + 0.6912i | -0.3261 £ 0.7540i
P4 D5 0.5982 0.4363
Ps P7 0.5982 + 0.2i 0.4363 £ 0.1i
Ps Po 0.5982 £ 0.4i 0.4363 £+ 0.2i
Pio---Pas | O 0
Table 15: K for delay is four samples
X axis Y axis
5.7 - 108 2.5 - 101
1.6-10° 3.3-10%
K, = 2.4 - 108 K, = 2.9-108
-2.8.104 —3.2-108
1.8-10! 1.1-10°
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6.3.6 Observer error dynamics summarized

So for every sample the position information is delayed the error dynamics will be expand
with five extra poles. Four of these poles lie in the origin and represent a delay. If the
position information is one sample delayed, the settling time will take at least the time of
five samples. The relation between the settling time and the number of delays the position
information undergoes is shown in figure 35. As expected we can see the more delays the
larger the settle time. Also it is shown that the x-axis is slower and will stay slower than
the observer for the y-axis.
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Figure 35: Delay with corresponding settle time

The poles of the error system must lie within the unit circle. In figure 36 we see the trend
of the pole placement. The system will become slower and the poles will lie further to the
edge of the unit circle. It is hard to say up to how many delays a stable observer can be
designed. If the trend follows as depicted in figure 36 it looks that with 10 delays the poles
of the error system can still be placed within the unit circle.

Looking form another point of view. Will this delayed position information improve the
estimation? The observer will be used to estimate the position for placing a component.
For every placement a position profile is generated. Such a position profile has an accel-
eration and deceleration part. The error of the estimation increases by acceleration and
by deceleration. These errors are opposite proportional to each other. Because we want
to estimate the position for placing or picking a component we have to deal with the de-
celeration part of the profile. So it isn’t useful to correct the position at this point in time
with an error due to the acceleration. On the contrary it will deteriorate the estimation.
So in our case using the fastest position profile with a frequency of 2 Hz we have 62.5
milliseconds of acceleration and 62.5 milliseconds of deceleration. The deceleration error
can be used to correct the estimation. We make use of a sample frequency of 3 milliseconds
so 20 samples delayed position error can still influence the estimation in a positive way.
So it is useful to correct the observer with a position error from more then 10 samples
earlier.
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Indication pole placement X axis Indication pole placement Y axis
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Figure 36: Indication pole placement

For every added delay in the error dynamics a different feedback gain is calculated. The
feedback gain (K) is a vector with a dimension of 5. This means a different feedback value
for every state. This vector will amplify or reduce the error. Now the error is scaled to
make a appropriate correction on the different system states. In figure 37 we see 5 sub-
plots. Every sub-plot contains the feedback gain on the different state. In figure 37(a),
figure 37(b) and figure 37(c) we see the feedback gains on the controller states. In the
figures 37(d) and figure 37(e) we corrected the gains on the states of the plant. These
represent the speed and the position.

We see that the gains for the observer of the y-axis increases with respect to the use of
more delayed data. This means that the error from a couple of samples before weighs
higher than the error that is only one sample delayed. This is not what we expected.

The gains for the x-axis observer don’t show this trend. The fluctuation between these
values are not so startlingly.
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It would be convenient if the same feedback gain vector will create a stable observer for
different delays. For every delay in the error dynamics an error matrix H shown in equation
42 is formulated. We can easily determine if this error system is stable for the different
feedback gains(K; where 7 represent the number of samples delay the vector is designed
for). So for every error system is analyzed if the poles, with the different feedback gain, lie
in the unit circle.

The results are shown in table 16. We see that every error system stays stable with the
different feedback gain vectors. Here we distinguish the error system and the feedback
gains from the y-axis and x-axis.

Table 16: Stability of the error system with different K;x’s

Number of delays Used K; x-axis | Stable | Used K; y-axis | Stable
One sample delay K yes K; yes
K, yes K, yes
K3 yes K3 yes
K, yes K, yes
Two samples delay | K; yes K; yes
K, yes K, yes
Ks yes Ks yes
K, yes Ky yes
Three samples delay | K; yes K; yes
K, yes Ko yes
Ks yes Ks yes
K, yes Ky yes
Four samples delay | K; yes K; yes
K, yes K, yes
K3 yes K; yes
Ky yes K4 yes
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6.4 Verification

In the previous sections for different delays a stable error system is found. The error
systemn was already discussed and is stable depicted in figure 25. In this subsection the
total transfer of the observer will be determined to verify it’s stability. The observer loop
is show in figure 38 and figure 39.

e,

veioeee oo Comtroller .. | | emeeeereezeaeeaeeee Plant X-axis .

Eﬂmﬂumhﬂ
1 x6 » [

Intgrator 4 ! Pos

2 o

3

[0

Figure 39: Observer loop y-axis




6.4 Verification 55.

To analyze the system stability again a state-space model will be made. The state-space
matrices for the observer for the x-axis and for the y-axis can be found in equation 30 and
31. To add delay terms matlab uses the following representation.

= Axz(t) + Bu(t Z ) + Bju(t — t;)) (55a)
N
y(t) = Cx(t) + Du(t) + Y _(Cjz(t — t;) + Dyult — t;)) (55b)

The Matrices A,;, Byj, Cj and Dy; contain the delay terms for the x-axis observer. These
are shown in equation 56. These represent the position that is delayed fed back to the
observer states with the determined gain.

000 0 K(1) 0
0000 K2 0
Agy=1{000 0 K(3) By = |0 (56)
000 0 K(4) 0
000 0 K(5 0
Cy=1[000 0 0] Dy =1[0]

In equation 57 the delayed term of the observer for the y-axis are shown. These represent
again the position.

0 00 0 KyK(1) 0
0 00 0 KygoK(2) 0
Ayiy=100 0 0 K,rK(3) Byj=10 (57)
0 000 KygoK(4) 0
0 000 KoK(5) 0
Cyj:[OOOOU] Dyj:[o]

Now with the matlab command ’delayss’ a state-space model with the delayed term can
be generated. We now have the transfer function which can be checked for stability.
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To check the stability the bode plot will be made and analyzed. In the sub figures of figure
40 we see four open-loop bode plots of the observer for the x-axis. The transfer function
are almost identical despite of the different delays in the loop. All systems are stable and
have a phase margin of 35° and a phase gain of 17 dB.

Because of hardware compatibility the same sample frequency is used for both systems.
The x-axis observer has a very small sample frequency in comparison with the y-axis. This
explains the nice response.

Bode Diagram Delay 1 samples Bode Diagram Delay 2 samples

Magnitude (dB)
Magnitude (dB)

g -180F>~< - =~ - - —mN- - - - - - o g -180F>~<_- =< - - et I
[] []
(%] 1%}
g -225 5 o5
=270~ + L -270 .
10 10° 10° 10* 10° 10" 10° 10° 10 10°
Frequency (rad/sec) Frequency (rad/sec)
(a) Bode plot system X with One delay (b) Bode plot system X with Two delay
Bode Diagram Delay 3 samples Bode Diagram Delay 4 samples

Magnitude (dB)
Magnitude (dB)

5 -
AT e N g—mo ———————— e
[} 4]
(7] N
g -225 é 205

-270 - T =270 1 * 5

10 10° 10° 10* 10° 10 107 10° 10* 10
Frequency (rad/sec) Frequency (rad/sec)
(c) Bode plot system X with Three delay (d) Bode plot system X with Four delay

Figure 40: Bode plot Observer loop X
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In the sub figures of figure 41 we see four open-loop bode plots of the observer for the
y-axis. Here the minimum stability margins are also shown. With only one delay in the
loop a phase margin of 40° is realized and a phase gain of 14 dB. With two delays in the
loop we have a phase margin of 43° and a gain margin of 15 dB.

With three delays in the loop some oscillations show up in the response. Still a phase
margin of 34° is realized and a gain margin of 13 dB. With four delays in the loop more
oscillation occur for higher frequencies. Still a stable observer is realized with a phase

margin of 34° but with a gain margin of 12 dB.

Bode Diagram Delay 1 samples

Frequency (rad/sec)

(c) Bode plot system Y with Three delay
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50
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(d) Bode plot system Y with Four delay

Figure 41: Bode plot Observer loop Y
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6.5 Simulation of the observer

We will look if the observer with delayed position information gives an improvement on
the open-loop position estimation. For every delay the optimal determent feedback gain
will be used. For simulation we make use of the simulink file diagram shown in figure 18,
only one block is added containing the observer. This is shown in figure 42, the block is
called ' Estimation’.

interface

uv curent

s e itz o=
P phi uv current out
iq controlter v M2 : pasx
] controller enable vel LM 2 E
anc_reset LM2
il
P onable amp index LM2
Indexx

ControllerX

R[] av1 posy 1 1

StatusX Enabley 1
[ Ref nabley Estmation
» ‘_ o
debugX [:] \_"
—{o] . osmiee
Radians phix
to Degrees 1
Ref

Figure 42: Total simulation scheme with observer

This contents of this block is depicted in 43. Here we see how the open-loop and closed-
loop estimation is implemented in simulink. The system matrix is shown in equation 30
and 31. The used parameters can be found in table 5 and 6.
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Quantizer 1 Estimated pos open

States_open
Error open

GO
Measured pos @
- Error delayed
@

Quantizer Estimated pos closed

A2 States_closed
Figure 43: Observer simulation scheme

6.5.1 Position estimation

The purpose of this observer is to estimate the position so that a component can be placed
fast and accurate on the PCB. Assembléon guarantees an accuracy of 40um. So we will
look when the measured value of the desired position is within this range. To determine
it’s improvement the open-loop estimation and the closed-loop observer estimation will be
compared with the measured position.

First of all the estimation must give a faster indication than the position information can
be transmitted. Otherwise the real position can be send through the wireless channel and
no improvement is presented. The sample time is 3 millisecond. So within 3 millisecond an
accurate position estimation must be available. We will verify this comparing the time the
real position is within the 40um range with the time the estimation is within this range.
The same position profile used for determining the controller accuracy will be used. These
profiles can be found in chapter 5 and are depicted in figure 21(a) and 21(b).
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First we will look at the observer for the x-axis. In figure 44(a) the used position pro-
file is depicted. Within this picture a dotted horizontal line is shown. These represent
the borders of 40um from the desired position. When the position if within this range a
component can be placed. So here the estimation must correspond very well with the real
position information. This part is zoomed out in figure 44(b).

Here the dotted lines show the upper and lower limit of 40um from the desired position
of 8 cm. Also the measured position information is shown, the open-loop estimation and
observer estimations who uses 1 up to 4 samples delay data. We see that the open-loop
estimation and the estimations of the observer lie for the most part on each other. Here
and there a small improvement is presented at this point of time. Looking at table 17
we see that the maximum error stays nearly the same. But an overall equal improvement
is achieved in the average error. The best results are achieved by the observer with 2 delays.

The same is done with the y-axis observer. In figure 45(b) we see that the different
observers has all improved the open-loop estimation at this point of time. Also the average
error and the maximum error is reduced. The results can be found in table 18. Here the
best results are achieved with an observer with 4 samples delayed data.
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Figure 44: Simulation observer x-azis

Table 17: Error position estimation z-axis

Average Error | Maximum Error

Open loop | 5.5-107° 47.5-107°
Delay Average Error | Maximum Error

1 6.4-1077 475 -107°

2 6.3-1077 47.0-107¢

3 6.4-1077 47.5-107°

4 6.4-1077 47.5-107°
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Figure 45: Simulation observer y-azis

Table 18: Error position estimation y-azis

Average Error | Maximum Error
Open loop | 18 -107° 40 -107°
Delay Average Error | Maximal Error
1 17.107° 39-107°
2 15-10° 36-107°
3 13-107° 31-10°°
4 11-107 28 -10°°
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6.5.2 Noise sensitivity

The results in this section are obtained by simulation in simulink. The measured position
and estimated position will both be generated by a model. To introduce a position error
two different models are used. The first model the block coulomb and viscous friction is
added and the mass will be enlarged. This model will be used to simulate the real position.
This one is placed in the sub-block called 'Model_with_error’.

The other model will use the determined parameters. This way a representative error is
introduced. In the sub figures of figure 47 and 48 we see the system sensitivity for noise.
On both axes the same amount of noise is added to the simulated measured position. The
simulation scheme is shown in figure 46.

Nl E

Band -Limited noise
White Noise rh
Pos i\

Speed real_noise

A error_dosed
t -1
O

Integer Delay 1

In1

Model _with _error

Integer Delay 3

Figure 46: Simulation with added notse

For the x-axis the feedback gains are relative small and the improvement on the position
information was small. This means that the system is also less insensitive to noise. The
y-axis on the contrary is more sensitive for the delayed position information. This results
is more sensitivity for noise. The power of the noise will be determined with the relation
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shown in equation 58

P, = % /0 ’ s2(t)dt (58)

In the tables ?? and ?? shows the power of the added noise. For every observer the
remaining noise on the position information is determined. This way the noise reduction
can be calculated.

Added noise \

1.0 107° W
Delay of Remaining noise | Noise Reduction
One sample 3.3-1071°wW -45 dB
Two samples | 1.1 -107° W -39 dB
Three samples | 1.2 -107° W -38 dB
Four samples | 1.2 -107° W -38 dB

Added noise

1.0 -107° W
Delay of Remaining noise | Noise Reduction
One sample 8.0 -10710W -40 dB
Two samples | 2.6 -107° W -25 dB
Three samples | 5.0 -1078 W -22 dB
Four samples | 7.6 -1078 W -21dB

Notice that the estimation from the observer of the x-axis will be less influenced by more
delayed values. This results in a smaller correction on the position estimation with a more
delayed value. The advantage is that this observer is less sensitive for noise on delayed
data.

The observer for the y-axis is more sensitive for delayed values. This results in a better
position estimation with delayed values. The disadvantage is that this observer will be
more sensitive for noise on delayed data.
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7 Conclusions

In this thesis we investigated the feasibility for wireless control of a pick and place machine
from Assembléon. The aspect that the position information is no longer real time available
was singled out. A proper solution is brought up.

For this study Assembléon donated a pick and place machine for research. The first part
of this thesis was to overrule this original system. We obtained full control of the pick and
place machine in our own research environment.

Suitable hardware was ordered and the corresponding software was successfully imple-
mented. The written alignment procedure finds the maximum current to force relation to
control both axes. This is realized with minimum movement of the motors.

The controllers follow the position profiles accurately. An accuracy of 40 um is obtained
for the y-axis. This is the accuracy Assembléon guarantees on their site.

The models in combination with the controller give a nice representation of the dynamics
of the plant. With this a good approximation of the position can be made. The average
estimation error for the x-axis stays within 6um en for the y-axis 18um.

This representation of the plants will be used in the design of the observers. A method
is found to design a stable observer capable to improve the estimation delayed position
information. The observer are designed for a fixed number of samples delay. The use of
delayed data turns out to an improved estimation. Till now no numeric boundary is found
on up to how many samples delayed data can be used to design a stable observer.

The observer will be used to estimate the position for placing a component. For every
placement a position profile is determined. Such a position profile has an acceleration and
deceleration part. The error of the estimation increases by acceleration and by decelera-
tion. These errors are opposite proportional of each other. Because we want to estimate
the position for placing or picking a component we have to deal with the deceleration part
of the profile. So it isn’t useful to correct the position at this point of time with an error
due to acceleration. On the contrary it will deteriorate the estimation.

When using a position profile of 2 Hz a 20 samples delayed position error can still influence
the estimation in a positive way.

To determine this observer 19 equations with 19 unknowns must be solved. The 19 un-
known are polynomials of the 19** order.

For both axes five observers are designed. The observers are capable to deal with an error
from 0 to 4 samples ago. Every observer improves the estimation in a positive way.

The observers are designed for a specified delayed error. Till four delays the determined
feedback gains are exchangeable. For all of then the poles of the error dynamics lie within
the unit circle.
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17-9-07 11:41 D:\Afstuderen\latex\verslag\Appendix\ccode\alignment X.c

1l of 12

/* Alignment procedure for manipulator by Jeroen de Boeij *\
edit bij René Hommels for Pick and Place Machine Assembléorn

\* September 2007

#define S FUNCTION NAME

S_FUNCTION LEVEL
"simstruc.bp"

de <math.h>

*/

W

lign rene model X

N

// define no of inputs of s-function

#define NINPUTS

a//10

// assign tags to inputs and outputs

$deiine u_pos{element)
4cdefine u_vel(element)
#a
#defina v enable

fine u index

(*urtrs(0))
(*urPtrs(11)
(*urtres!l? )

{(*uPtrsiij)

// define no of outputs of s-function

#define NCUTPUTS

8//16

// assign tags to outputs and outputs

#defire vy _ilml (elerent)

2 y_enc reset (elerent)

y_amp_enable
y_controller erable

y_status
v _debug
y_phi(elament)

// define number of states
#def: NDETATES
#define NCSTATES

#defire vest(elerment)

(yPtrs|{+elerent];
(yPtrslz])
(yPrrs{3l)
(yPtrs|4i
(yPtrs[3])
(yPLrsi6})

(yPrrs{7i)

// define real variables workspace

#cef NRWRK

RESULT
temph

#detine templ

#define temp?

#define temp3

tempd

PREVIOUS RESULT
STEP SIZE

PHI 1M1

IG LML

debug

#aeTine pref Iml

// define integer variables
#defire NIWRK

#define 3TATL

1¢
prark [0
prwrk|1!

prwrk[8°

prwrk{%;
prark[l5]
prarkili;
prawx k|12
prark[12}
prwrk(14,
prwrk[13°

workspace
14

piwrk{0,




A C-CODE

17-9-07 11:41 D:\Afstuderen\latex\verslag\Appendix\ccode\alignment X.c 2 of 12

#define

#define
#define
tgefine

¢define
P

=)

al e

4cefire 1
#define 4
#define 4

“d

O

i8]

ST FATLE

ZERGC SEARCH FATLED b
> HOMING FATLED 16
> EMERGENCY_STCP 17

// define constants

#define

DETECTICN
VIBRATION
EOMING
#define HOMTN

// 10 micrometers
// 2 miliseconds

OO OO

[l

#define LM _VMAX z
RM_VMAX 62.8
#define tau 0.00825
#define Kgain 1000C.90
#define eps 0.0001 // precision to be used instead of == statements®
with doubles
#define Plm 206.0

¢
=

#define Dlm

static void mdlInitializeSizes (SimStruct *S)

{
ssSetNumSFcnParams (S, 0) ; //no parameters expected
if (ssGetNumSFcnParams (S) != ssGetSFcnParamsCount (S))
return;

ssSetNumContStates (S, NCSTATES);
ssSetNumDiscStates (S, NDSTATES);

if (! ssSetNumInputPorts (S, 1)) return;
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ssSetInputPortWidth (S, 0, NINPUTS);

ssSetInputPortDirectFeedThrough (S, 0, true); //direct feedthrough

if (!ssSetNumOutputPorts (S, 1)) return;
ssSetOutputPortWidth (S, 0, NOUTPUTS);

ssSetNumSampleTimes (S, 1);
ssSetNumRWork (S, NRWRK) ;
gaSetNumIWork (S, NIWRK);
ssSetNumPWork (S, 0);
ssSetNumModes (S, 0);
ssSetNumNonsampled2Cs (S, 0);

static void mdlInitializeSampleTimes (SimStruct *S)

{

#

ssSetSampleTime (S, 0, CONTINUOUS_SAMPLE TIME);
ssSetOffsetTime (S, 0, 0);

define MDL, INITIALIZE CCNDITIONS

static void mdlInitializeConditions (SimStruct *S)

_—

int iz

int_T *piwrk = ssGetIWork(S):

real T *prwrk = ssGetRWork (S);

real T *xc = ssGetContStates (S);

for (i=0; i<NRWRK; i++) {
prwrk[i]=0.0;

for (1=0;i<NIWRK;i++) {
piwrk[i]1=0;

for (i=0;i<NCSTATES; i++) {
xc[i]=0.0;

STATUS = WAITING FOR_START;
STEP_SIZE = ssGetStepSize(S);
DPHI = 0.5*pi;

PHI = 0;

static void mdlOutputs (SimStruct *S, int T tid)

{

real T pos;
int_T SWITCH_VALUE,vibration_step;

int_T *piwrk = ssGetIWork (S);
real T *prwrk = ssGetRWork (S);
real T *xc = ssGetContStates(S);

real T *yPtrs = ssGetOutputPortRealSignmal (S,0);




A C-CODE

17-9~07 11:41 D:\Afstuderen\latex\verslag\Appendix\ccode\alignment X.c 4 of 12

InputRealPtrsType uPtrs

vibration step = (int_T)
pos=0.0;

//safety

if (fabs (vest (0)) > LM VMAX) {

to EMERGENCY
STATUS = EMERGENCY;

// set initial values when waiting for

if(u_enable < eps ){

STATUS = WAITING_FOR_START;

AMP_ENABLED = 0;
CONTROLLER_ENABLED=0;

Iref=Iref0;
HOMING_STATUS = 0;
Index =0;

PHI = 0;

DPHI = 0.5*pi;

IQ LM1=0.0;

debug = 1;

//get switch case
SWITCH_VALUE=STATUS;

1/

start

ssGetInputPortRealSignalPtrs (S, 0);

(VIBRATION PULSE/STEP_SIZE); // = 0.002/125e-6 =

//if speed exceeds 0.3 m/s, gow

// WAITING FOR START

1/ S

switch (SWITCH_VALUE) {

case WAITING_FOR_START:

I0 LM1=0.0;
//1Q_1M2=0.0;
/710 RM=0.0;
ENC_RESET LM1=0;
AMP_ENABLED = 0;

CONTROLLER_ENABLED=0;

DISC_STEP=0;
TEST_COUNT=0;

1/

AMPLITUDE_COUNT=0;

Iref=Iref0;

if(u_enable > 1.0-eps){
AMP_ENABLED = 1;
STATUS=TEST;
ENC_RESET_LM1=1;
Iref = Iref0;
TEST_COUNT = 0;
ENC_RESET_LMl1=1;
debug = 0;

}

break;

//start switch is enabled
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// TEST
/= = =============
case TEST:
// read position of motor to be tested
if (STATUS == TEST_LM1) {
pos = u_pos (0);
}
// generate test pulses
if (DISC_STEP == (O*vibration step)) {
ig = Iref*sin(0.5*pi/vibration step*DISC_STEP):;
}
else 1f(DISC_STEP < (l*vibration step))({
ig = Iref*sin(0.5*pi/vibration step*DISC_STEP);
}
else if(DISC_STEP < (2*vibration_step)){
ig = Iref*sin(0.5*pi/vibration_step*DISC_STEP);
}
else if(DISC_STEP == (2*vibration_step)) (
templ = pos;
iq = 0;
}
else if (DISC_STEP < (3*vibration_step)){
iq = Iref*sin(0.5*pi/vibration step*DISC_STEP);
}
else if (DISC_STEP < (4*vibration_step)){
ig = Iref*s$in(0.5*pi/vibration step*DISC_STEP);
}
else if(DISC_STEP == (4*vibration_step))(
temp2 = pos;
ig = 0;
}
else if (DISC_STEP < (5*vibration step)){
iq = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
}
else if (DISC_STEP < (6*vibration step)){
iq = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
}
else if(DISC_STEP == (6*vibration_step)){
temp3 = pos;
ig = 0;
}
else if (DISC_STEP < (7*vibration_step)) {
ig = -Iref*sin(0.5*pi/vibration_step*DISC_ STEP);
}
else if(DISC_STEP < (8*vibration_step)){
ig = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
}
else if(DISC_STEP == (8*vibration_step)){
temp4 = pos;
RESULT = - (tempO-templ)+ (templ-temp2)+ (temp2-temp3) - (temp3-temp4) ;

ig = 0;

)

else if(DISC_STEP < (l0*vibration_step)){
ig = 0;

}
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else if (DISC_STEP == (l0*vibration step)) {
ig = 0;

temp0 = pos;
DISC_STEP = 0;

if ((RESULT >= -DETECTION_LEVEL) && (RESULT <= DETECTION_LEVEL))

{
Iref = 1,2*Iref;
PHI = PHI + (0.5*pi);
TEST_COUNT = 0;
if (Iref > Imax)
{
Iref = Iref0;

//no movement is detected

STATUS = EMERGENCY_STOP;//TEST_FAILED:

PHI = 0.0;
ig = 0.0;

else
TEST_COUNT++;

if (TEST_COUNT == 3)
{

if (STATUS == TEST_LMI1) {

//increase test_count
//movement is detected three times

STATUS = ZERO_SEARCH; //EMERGENCY_STOP;

Iref = Iref0;
DISC_STEP=0;

PREVIOUS_RESULT = 0;
TEST_COUNT = Q;

DPHI = 0.5*pi;

Iref = Iref0;

}

DISC_STEP++;

// assign g-phi for motor
IQ IMl=iq;

PHI_ LM1=PHI;

// assign outputs
ENC_RESET_LM1=0;
AMP_ENABLED = 1;
CONTROLLER_ENABLED=0;

// reinitialize variables

break;
// S====sssss=s====s=======sss=sSS==SSs=ss=======ssSS============== =
// ZERO SEARCE LM1
// ======================================================= ===

case ZERO_SEARCH:
if (STATUS == ZERO_SEARCH IM1) {
pos = u_pos(0);
}
// generate pulses
if (DISC_STEP < (l*vibration_step))
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ig = Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if(DISC_STEP < (2*vibration_step))

ig = Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if (DISC_STEP == (2*vibration_step))
{

templ = pos;

ig = 0;
}
else if (DISC_STEP < (3*vibration_step})

ig = Iref*sin(0.5*pi/vibration step*DISC_STEP);
else if (DISC_STEP < (4*vibration_step))

iq = Iref*sin(0.5*pi/vibration step*DISC_STEP);
else 1f(DISC_STEP == (4*vibration_step))
{

temp2 = pos;

ig = 0;
}
else if (DISC_STEP < (5*vibration_ step))

ig = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if(DISC_STEP < (6*vibration_step))

ig = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if (DISC_STEP == (é*vibration_step))
(

temp3 = pos;

ig = 0;
}
else 1f(DISC_STEP < (7*vibration_step))

ig = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if (DISC_STEP < (8*vibration step))

ig = -Iref*sin(0.5*pi/vibration step*DISC_STEP):;
else if (DISC_STEP == (8*vibration step))
{

temp4 = pos;

RESULT = - (tempO-templ)+ (templ-temp2)+ (temp2-temp3)~ (temp3-temp4) ;

ig = 0;
}
else 1if(DISC_STEP < (20*vibration_step))

ig = 0.0;
else if(DISC_STEP == (20*vibration_step))
{

temp0 = pos;

if ((RESULT >= -DETECTION_ LEVEL)&& (RESULT <= DETECTION_LEVEL))

(

Iref = 1.2*Iref;
if (Iref > Imax)
{

ig = 0.0;
PHI=PHI+0.5*pi;
if(STATUS == ZERO_SEARCH_IM1)

{
PHI_LM1=PHI;
ENC_RESET LM1=1;
STATUS = HOMING;
StartV=0;




A C-CODE

17-9-07 11:41 D:\Afstuderen\latex\verslag\Appendix\ccodelalignment X.c 8 of 12

// reinitialize variables

PREVIOUS_RESULT = 0.0
TEST_COUNT = 0;
DPEI = 0.5*pi;
Iref = IrefQ;
DISC_STEP=1;
}
AMPLITUDE_COUNT = 0;
}
else
{
AMPLITUDE_COUNT++; //increase amplitude_count
if (((PREVIOUS_RESULT > 0) && (RESULT < 0)) [| ((PREVIOUS_RESULT <¥
0) && (RESULT > 0)))
{
DPHI = DPHI*0.5;
}
PREVIOUS_RESULT = RESULT;
if (RESULT > 0)
{
PHI = PHI - DPHI;

PHI = PHI + DPHEI:;

}

1f (AMPLITUDE_COUNT>25)

{
STATUS=ZERC_SEARCH_FAILED;
ig = 0.0;

}
ig = 0;
DISC_STEP = 0;
}
DISC_STEP++;
// assign g-phi for each motor
if (STATUS == ZERO_SEARCH_LM1) {
IQ LMl=iqg;
PHI LM1=PHI;

ENC_RESET_ LM1=0;
AMP_ENABLED = 1;
CONTROLLER ENABLED=0;

break;

//== ======
// HOMING
//===s=================s=====s========s=========c======================

case HOMING:
if (HOMING_STATUS==0) { // positive current positive¥
movement
if (DISC_STEP==1) {
tempO=u_pos (0);
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IQ IMl=Iref0;

}
else if(DISC_STEP < (lO0*vibration_step)) {

IQ LMl=Iref0;
}

else if (DISC_STEP == (l0*vibration_step)){
IQ LML = 0;
templ=u_pos (0) -temp0;
// // if positive current leads to negative displacement

// change PHI with pi to reverse direction
if (templ<-DETECTION LEVEL) {
PHI IMl+=pi;
}
if (fabs (templ) <DETECTION_ LEVEL) {
STATUS=HOMING FAILED;
}
Direction = -1;
HOMING STATUS++;
DISC_STEP=0;
IQ IM1 = 0;
)
DISC_STEP++;
ENC_RESET IM1=0;

//wait for LMl to stand still after movement of LMl
if (HOMING_STATUS==1) {
if( fabs (vest (0))<= 0.0001) {
HOMING_STATUS++;
DISC_STEP=1;
}
IQ IM1=0.0;
ENC_RESET LM1=0;
templ = 100;
Once = 0;
}
if (HOMING_STATUS==2) {
if (DISC_STEP==1) {
tempO=u_peos (0) ;

IQ ILMl= 0.47*IrefO*Direction; //(0.25* (1-vest (0))) *Direction;

}
else if (DISC_STEP < (l0*vibration_step)){
IQ LMl= 0.47*Iref0*Direction; //{0.25% (1-vest (0)) ) *Direction;
if (temp0 == templ) { // het bereik bereikt, ¥
rechterhoek
//IQ LML = 0;
HOMING_STATUS = 6; //geen index zoeken
Direction = Direction *(-1);

}

else if(DISC_STEP == (lO*vibration_step)) {
IQ LMl= 0.47*IrefO*Direction; //(0.24* (1-vest (0)))*Direction;
templ=temp0;
DISC_STEP=0;
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DISC STEP++;
}

1if (HOMING_STATUS==3) { //find index

IQ IM1 = 0.35*IrefO*Direction;

if (u_index > 0.99 && Once == 0){
Index++;
Once = 1;

}
if (u_index < 0.01){
Once = 0;

}

if (Index == 2){
IQ LMl = 0;
HOMING_STATUS++;
Direction = Direction* (-1);
Index = 0;

if (HOMING_STATUS==4) { //wacht tot stilstand
if( fabs (vest (0))<= 0.1* (DETECTION_LEVEL/STEP_SIZE)
HOMING STATUS++;
DISC_STEP=0;

if (HOMING_STATUS==5) {

IQ LMl= 0.25*Direction;

if (u_index > 0.9)({
PHI_LMl+=pi/tau*u_pos (0);
ENC_RESET_LM1=1;
HOMING_STATUS++;
IQ LMl = 0;
ENC_RESET LM1=0;

//index low speed

}

DISC_STEP++;

if (DISC_STEP == 10000) {
IQ 1M1 = 0;
HOMING_STATUS = 0;
DISC_STEP=1;

//index not found

if (HOMING_STATUS==6) ( //wacht

if( fabs(vest(0))<= 0.1* (DETECTION_ LEVEL/STEP_SIZE)

//HOMING STATUS++;
PHI_LMl+=pi/tau*u_pos (0);
ENC_RESET IMl=1;
DISC_STEP++;

if (DISC_STEP == 10){

DISC_STEP=1;

}
STATUS = READY;
DISC_STEP=1;

//wailt reset

//(0.12* {(1-vest (0}))) *Direction;

)

//(0.65*(0.25-vest (0)))*Direction;

tot stilstand

)
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}
}

break;
//= ====== =
// READY
//= = =

case READY:

IQ LM1=0;//-vest (0);
ENC_RESET IM1=0;
AMP_ENABLED = 1;
DISC_STEP++;
if (DISC_STEP == 10000){
CONTROLLER ENABLED=1;
DISC_STEP=1;

break;
// m—mmm—=mm—mmmmooooooooomsemmmemmmomeeoooo oo —ems
// EMERGENCY
//=================sccc—cc——======a———co=s=—===—==osss=oo==o=== =

case EMERGENCY:
ENC_RESET_LM1=0;
AMP_ENABLED = 1;
CONTROLLER_ENABLED=0;
IQ_LM1=-10*vest (0);
if (AMP_ENABLED==1) {
if ((fabs (vest (0) ) <DETECTION LEVEL/STEP_SIZE)){//&& (fabs(vest(l))¥
<DETECTION_ LEVEL/STEP SIZE) ){
1Q IM1=0.0;
STATUS=EMERGENCY_STOP;

}

break;
//= ===== = =
// EMERGENCY_STOP
// = =====s=sssss=s==—=—=========ss==s======

case EMERGENCY STOP:
1Q IM1=0.0;
ENC_RESET_LM1=0;
AMP_ENABLED = 0;
CONTROLLER_ENABLED=0;
break;

//check current saturation
if{IQ_LM1>Imax) {
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IQ LMl=Imax;

}

else if(IQ LMl<-Imax) {
IQ ILMl=-Imax;

//generate three phase outputs

y_ilml (0)=IQ IMl*sin(pi/tau*u_pos (0)+PHI_LM1);
y_ilml (1)=IQ IMl*sin(pi/tau*u_pos (0)+PHI_IM1+2.0/3.0%pi);

// other outputs
y_enc_reset (0)=ENC_RESET_LM1;

y_controller enable = CONTROLLER ENABLED;
y_status = STATUS;

y_amp_enable = AMP_ENABLED;

y_debug = debug;

// phase angle
y_phi (0)=PHI_1M1;

ine MDL DERTVATIVES
#1f defined(MDL DERIVATIVES)
static void mdlDerivatives (SimStruct *S)

{
real T *dx = ssGetdX(S);
real T *xc = ssGetContStates (S);
InputRealPtrsType uPtrs = ssGetInputPortRealSignalPtrs (S,0);
int i;
for (i=0;i<NCSTATES; i++) {
dx[i]=Kgain* (u_vel (i)-vest(i));
}
)
$endif

static void mdlTerminate (SimStruct *S)
{

}

#ifdef MATLAB_MEX FILE

#include "=simulirk.c”

telse

#include "cg sfun.h”

#endif
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/* Alignment procedure for manipulator by Jeroen de Boeij *\
edit bij René Hommels for Pick and Place Machine Assembléon

\* September 2007

#define S FUNCTION NAME
#cdefine S FUNCTION_ LEVEL
#irclude "simstruc.h"
#include <math.h>

// define no of inputs of s-

#define NINPUTS

// assiqn tags to inputs an
#cefine u pos(element)

#cefine u

rel (element)

iraex

u_erable

// define no of outputs of

#cefine NOUTPUTS

// assign tags to outputs a

#defire v irm{elermert)

#defire y erc reset(element
et y amp_enable

v controller enable

ylstatus -

y_dJdebug

y phi(element)

// define number of states
DSTATES

NCSTATES

#defire vest(element)

// define real variables wo
#define NRWRK

temp3

tdefire temrpd

cebuq
pref RM

// define integer variables
NIWRK
STATUS

align rene model Y

2

function
4//10

d outputs

w

(*uPtrs [0
(*urtrs|
(*urt
{(*uPt

®w

w

r
r
Tre
rs

vy ’\.l - <

s—function
2//16

nd outputs
(yPrrs alermert])

) (yPr

[2
(yPris(3
(yPtrs 4
(yPtrsi:
(yPtrsio]
(yPtrsi7;)

0

rkspace
16

prwrk [0}

prwrP[l
prw } °
prwrk )
rwrk{4’

prowrk[s}
prwrk([6;
prwrkl?
prwrk([8
prwrk{?,
prwrk[13”
prwrkill,
pruwrki{lz
prwrk(1l
prwrk(14]
prwrki{ls?

workspace
1s
piwrkid.

*/

// (*uPtrs [0+element])
// (*uPtrs[3+element])
// {*uPtrs(6+element])
// {*ubPtrs[9]
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PEERE TS et

// define status values
#define WAITING FOR_START
TEST

o

P
=

3
ol
n

moE v
P
RIS

jcd-s)

e
|

L) ke s

NN

s
o
1

I

o

13
#define 14
#cdefine 15
tdefin 15
#define F
// define constants
#define pi 3. 26433832795
#define Imax 3
#detire Trefl 0
#define DETECTTON LEVETL 0 10 micrometers
#define VIBRATICN PULSE 0 2 miliseconds
#define HOMING SPEED LOW 0
#define HOMING SPEED HIGE O
#aefine LM VMAX 2
#define RM VMAX 0.
#define DIFF MAX 0
tdefine tau G
#cdefine Kgawr 12
#cdefine eps J

with doubles
#define Plm 20.0
#define Dlm 5

static void mdlInitializeSizes (SimStruct *S)
{
ssSetNumSFcnParams (S, 0) ; //no parameters expected
if (ssGetNumSFcnParams (S) != ssGetSFcnParamsCount (S))
return;
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ssSetNumContStates (S, NCSTATES):;
ssSetNumDiscStates (S, NDSTATES):;

1f (! ssSetNumInputPorts (S, 1)) return;
ssSetInputPortWidth (S, 0, NINPUTS);
ssSetInputPortDirectFeedThrough(S, 0, true); //direct feedthrough

if (! ssSetNumOutputPorts (S, 1)) return;
ssSetOutputPortWidth (S, 0, NOUTPUTS);

ssSetNumSampleTimes (S, 1);
ssSetNumRWork (S, NRWRK) ;
ssSetNumIWork (S, NIWRK);
ssSetNumPWork (S, 0);
ssSetNumModes (S, 0);
ssSetNumNonsampledzCs (S, 0);

static void mdlInitializeSampleTimes (SimStruct *S)
{
ssSetSampleTime (S, 0, CONTINUOUS_SAMPLE TIME);
ssSetOffsetTima (S, 0, 0);

# aafine MOL INITIALIZE ITIONS
static void mdlInitializeConditions (SimStruct *S)
{

int i;

int_T *piwrk = ssGetIWork(S):

real T *prwrk = ssGetRWork(S);

real T *xc = ssGetContStates (S);

for (i=0; i<NRWRK; i++) {
prwrk[i]=0.0;

for (1=0; i<NIWRK;i++) {
piwrk[i]=0;

for (i=0; 1<NCSTATES; i++) {
xc[i)=0.0;

STATUS = WAITING FOR_START;
STEP_SIZE = ssGetStepSize (S);
DPHI = 0.5*pi;

PHI = 0;

static void mdlQutputs (SimStruct *$, int T tid)
{

real T pos;

int T SWITCH_VALUE,vibration_ step;
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int T *piwrk = ssGetIWork (S);
real T *prwrk = ssGetRWork (S);
real T *%C = ssGetContStates(s);
real T *yPtrs = ssGetOutputPortRealSignal (S,0);

InputRealPtrsType uPtrs = ssGetInputPortRealSignalPtrs (S,0);

vibration_step = (int_T) (VIBRATION PULSE/STEP_SIZE); // = 0.002/125e-6 =
pos=0.0;

//safety
if (fabs (vest (0)) > RM_VMAX) ( //if speed exceeds 0.3 m/s, gov
to EMERGENCY
STATUS = EMERGENCY;

// set initial values when waiting for start
if (u_enable < eps ){
STATUS = WAITING_FOR_START;
AMP_ENABLED = 0;
CONTROLLER ENABLED=0;
Iref=Iref0;
HOMING_STATUS = 0;
Index =0;
PHI = 0;
DPHI = 0.5*pi;
IQ_RM=0.0;
debug = 1;

//get switch case
SWITCH_VALUE=STATUS;

//= ==== -
// WAITING FOR START

Switch(SWITCH_VALUE){
case WAITING_FOR_START:
IQ RM=0.0;
ENC_RESET_RM=0;
AMP_ENABLED = 0;
CONTRCLLER_ENABLED=0;
DISC_STEP=0;
TEST_COUNT=0;
AMPLITUDE_COUNT=0;
Iref=Iref0;
if(u_enable > 1.0-eps){ //start switch is enabled
AMP ENABLED = 1;
STATUS=TEST;
Iref = Iref0;
TEST_COUNT = 0;
ENC_RESET_RM=1;
debug = 0;

break;
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// ====
// TEST
//
case TEST:
// read position of motor to be tested
1f(STATUS == TEST_RM) {
pos = u_pos(0);
}
// generate test pulses
if (DISC_STEP == (0O*vibration_ step)){
ig = Iref*sin(0.5*pi/vibration_step*DISC_STEP);
}
else if (DISC_STEP < (l*vibration_step))({
ig = Iref*s$in(0.5*pi/vibration_step*DISC_STEP);
}
else 1f(DISC_STEP < (2*vibration_step))(
ig = Iref*sin(0.5*pi/vibration_step*DISC_STEP):
}
else 1f(DISC_STEP == (2*vibration step)){
templ = pos;
ig = 0;
}
else 1f(DISC_STEP < (3*vibration_step)){
ig = Iref*sin(0.5*pi/vibration step*DISC_STEP);
}
else 1f(DISC_STEP < (4*vibration_step))(
ig = Iref*sin(0.5*pi/vibration step*DISC_STEP);
}
else if(DISC_STEP == (4*vibration_step)) {
temp2 = pos;
ig = 0;
}
else if (DISC_STEP < (5*vibration step)){
igq = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
}
else if(DISC_STEP < (6*vibration step)) {
ig = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
}
else if (DISC_STEP == (6*vibration_step)){
temp3 = pos;
ig = 0;
}
else if(DISC_STEP < (7*vibration_step)){
iq = -Iref*sin(0.5*pi/vibration step*DISC_STEP);
}
else if (DISC_STEP < (8*vibration_ step)){
iq = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
}
else if(DISC_STEP == (8*vibration_step)) {
temp4 = pos;
RESULT = - (tempO-templ)+ (templ-temp2)+ (temp2-temp3) - (temp3—-temp4) ;

ig = 0;
}
else if (DISC_STEP < (l0*vibration_step)) {
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iq = 0;

)

else if (DISC_STEP == (l0*vibration_ step)){
iq = 0;

temp0 = pos;
DISC_STEP = 0;

1f ((RESULT >= -DETECTION LEVEL) && (RESULT <= DETECTION_LEVEL))

{
Iref = 1,2*Iref;
PHI = PHI + (0.5*pi);
TEST_COUNT = 0;
if (Iref > Imax)
{
Iref = Iref0;

//no movement is detected

STATUS = EMERGENCY STOP;//TEST_FATLED;

PHI = 0.0;
iq = 0.0;

else

TEST_COUNT++;
if(TEST_COUNT == 3)
{

if (STATUS == TEST_RM) {

//increase test_count

//movement is detected three times

STATUS = ZERC_SEARCH;//EMERGENCY STOP;

Iref = Iref0;
DISC_STEP=0;

PREVIQUS_RESULT = 0;
TEST_COUNT = 0;

DPHI = 0.5*pi;

Iref = Iref0;

}

DISC_STEP++;

// assign g-phi for motor
IQ_RM=iq;

PHI_RM=PHI;

// assign outputs
ENC_RESET_RM=0;
AMP_ENABLED = 1;
CONTROLLER ENABLED=0;

// reinitialize variables

break;
// = = ====== s=s====== ======= ==
// WAIT
//================= ========= S===
case WAIT:
StartV++;

if (StartV == 10)
{
STATUS = HOMING;

//EMERGENCY_STOP;

// delay encoder reset

reset encoder
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ENC_RESET_RM=0;

Startv=0;
}
break;
//= =================== ====
// 2ERC SEARCH IM1
//==== === ==== ======

case ZERO_SEARCH:
// get position of motor
if (STATUS == ZERO_SEARCH RM) {
pos = u_pos(0);
}
// generate pulses
if (DISC_STEP < (l*vibration_step))
iq = Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if(DISC_STEP < (2*vibration_step))
iq = Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if (DISC_STEP == (2*vibration_ step))
{
templ = pos;
iq = 0;
}
else if(DISC_STEP < (3*vibration_step))
ig = Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if (DISC_STEP < (4*vibration_step))
igq = Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else 1f(DISC_STEP == (4*vibration_step))
{
temp2 = pos;
ig = 0;
}
else if(DISC_STEP < (5*vibration_step))
igq = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if(DISC_STEP < (6*vibration_step))
iq = ~Iref*sin(0.5*pi/vibration_step*DISC_STEP):;
else if(DISC_STEP == (6*vibration_step))
{
temp3 = pos;
ig = 0:
)
else if (DISC_STEP < (7*vibration_step))
ig = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if (DISC_STEP < (8*vibration_step))
ig = -Iref*sin(0.5*pi/vibration_step*DISC_STEP);
else if(DISC_STEP == (8*vibration_step))
{
temp4 = pos;
RESULT = - (tempO-templ)+ (templ-temp2)+ (temp2-temp3) - (temp3-temp4) ;
ig = 0:
}
else 1f(DISC_STEP < (20*vibration_step))
ig=0.0;
else if (DISC_STEP == (20*vibration step))
{
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temp0 = pos;
i£ ((RESULT >= -DETECTION_LEVEL) && (RESULT <= DETECTION_LEVEL)
{
Iref = 1.2*Iref;
if (Iref > Imax)
{
ig = 0.0;
PHI=PHI+0.5*pi;
if (STATUS == ZERO_SEARCH RM)
{
PHI_RM=PHI;
ENC_RESET RM=1;
STATUS = WAIT; // reset encoder
}
PREVIOUS_RESULT = 0.0; // reinitialize variables
TEST_COUNT = 0;
DPHI = 0.5%*pi;
Iref = Iref0;
DISC_STEP=1;
}
AMPLITUDE_COUNT = 0;
}
else
{
AMPLITUDE_COUNT++; //increase amplitude_count
if (((PREVIOUS_RESULT > 0) && (RESULT < 0)) || ((PREVIOUS_ RESULT <¥¢
(RESULT > 0)))

{
DPHI = DPHI*0.5;
}
PREVIOUS_RESULT = RESULT;
if (RESULT > 0)
(
PHI = PHI - DPHI;

PHI = PHI + DPHI;

}

if (AMPLITUDE_COUNT>30)

{
STATUS=ZERO_SEARCH_ FAILED;
ig = 0.0;

}
ig = 0;
DISC_STEP = 0;
}
DISC_STEP++;
// assign g-phi for each motor
if (STATUS == ZERQO_SEARCH_RM) {
IQ RM=iqg;
PHI_RM=PHI;
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//ENC_RESET RM=0;
AMP_ENABLED = 1;
CONTROLLER_ENABLED=0;

break;

[ /=== - ===
// HOMING
J e ———

case HOMING:
if (HOMING_STATUS==0) { // positive current positive¥
movement
1f (DISC_STEP==1) {
tempO=u_pos (0) ;
IC RM= Iref0;
}
else if (DISC_STEP < (lO*vibration_step)) {
IQ_RM= Iref0;
}
else if(DISC_STEP == (lO0*vibration_step)){
IQ RM = 0;
templ=u_pos (0) -temp0;
// if positive current leads to negative displacement
// change PHI with pi to reverse direction
if(templ<—DETECTION_LEVEL)(
PHI RM+=pi;
}
if (fabs (templ) <DETECTION_LEVEL) {
STATUS=50; //HOMING FAILED;
}
HOMING_STATUS++;
Direction = -1;
DISC_STEP=0;
IC RM = 0y
}
DISC_STEP++;
ENC_RESET RM=0;

//wait for LMl to stand still after movement of LMl
if (HOMING_STATUS==1) {
if ( fabs (vest(0))<= 0.0001) {
HOMING_STATUS++;
DISC_STEP=1;
}
IQ_RM=0.0;
ENC_RESET RM=0;
templ=101;
temp2=100;
Once = 0;
DISC_STEP=1;
}
1f (HOMING STATUS==2) {
1f (DISC_STEP==1) {
tempO=u_pos (0) ;
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IQ RM= 0.8*IrefO*Direction; //{0.25%(1l-vest (0))) ¥
*DirectionX;
}
else 1f(DISC_STEP < (10*vibration_step)){
IQ RM= 0.72*IrefO*Direction; //(0.25*% (1-vest (0))) ¥

*DirectionX;

if ((temp0 == templ) && (temp2!=templ)){ // het bereik bereikt, «

rechterhoek
//PBI_RM+=pi/4*tau*u_pos(0};
ENC_RESET RM=0;
//STATUS = READY;
IQ RM = 0;
//ENC_RESET_RM=1;
temp2=templ;
DISC_STEP=0;
HOMING_STATUS++;
}
}
else if(DISC_STEP == (l0*vibration_step)){
IQ RM= 0.72*Iref0*Direction; //(0.24% (1-vest (0))) ¢
*DirectionX;
templ=tempO;
DISC_STEP=0;
}
DISC_STEP++;
}
//wait for LMl to stand still after movement of LMl
if (HOMING STATUS==3) {
if ( fabs(vest(0))<= 0.0001)({
PHI_RM+=pi/tau*u_pos (0);
ENC_RESET RM=1;
STATUS = READY;
DISC_STEP=0;
}
IQ RM=0.0;
//ENC_RESET RM=0;
}
break;
/7
// READY
//= ============== === ===
case READY:

IQ RM=0;//-vest(0);

PHI_RM = PHI_RM;

AMP_ENABLED = 1;

DISC_STEP++;

if (DISC_STEP == 10000){

ENC_RESET RM=0;
CONTROLLER ENABLED=1;
DISC_STEP=1;
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break;
/7= === =
// EMERGENCY
/ /= i i i

case EMERGENCY:
ENC_RESET_RM=0;
AMP ENABLED = 1;
CONTROLLER_ENABLED=0;
IQ RM=-10*vest(0);
if (AMP_ENABLED==1) {

if ({fabs (vest (0) ) <DETECTION_LEVEL/STEP_SIZE)){//&&

<DETECTION_LEVEL/STEP'SIZE) R
IQ RM=0.0;
STATUS=EMERGENCY_STOP;

}

break;

7 ===

(fabs{(vest (1)) ¥

// EMERGENCY_STOP

7 e

case EMERGENCY_ STOP:
IQ RM=0.0;
ENC_RESET RM=0;
AMP_ENABLED = 0;
CONTROLLER_ENABLED=0;
break;

//check current saturation
if (IQ_RM>Imax) {
IQ RM=Imax;
}
else 1f (IQ RM<-Imax) {
IQ_RM=-Imax;

//generate three phase outputs

y_irm(0)=I1Q RM*sin(pi/tau*u_pos (0)+PHI_RM);

y_irm(1)=IQ RM*sin(pi/tau*u pos(0)+PHI_RM+2.0/3.0*pi);

// other outputs
y_enc_reset (0) =ENC_RESET_RM;

y_controller_enable = CONTROLLER ENABLED;
y_status = STATUS;

y_amp_enable = AMP_ENABLED;

y_debug = debug;
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// phasec angle
y_phi (0) =PHI_RM;

#define MDI _DERIVATIVES

§if definea{MDL DERIVATIVES)

static void mdlDerivatives (SimStruct *S)

{
real T *dx = ssGetdX(S);
real T *xc = ssGetContStates (S);
InputRealPtrsType uPtrs = ssGetInputPortRealSignalPtrs(S,0);

int i;

for (1=0; i<NCSTATES;i++) {
dx[i]=Kgain* (u_vel (i) -vest(i));

}

#endif

static void mdlTerminate (SimStruct *S)
{

}

#ifdef MATLAB MEX_FILE

#include "simulinrk.c"

#else

#include "cg sfur.h"

sendir -
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B TEST DATA ASSEMBLEON

1. Test Configuration
1.1 CPR configuration
1§ Item ID
= XY Robot PA1118/00  DC 1675
= PHS PA2800/00 _ DC 7515
-] Placement Controller
83 Radisys (Reference) PA1800/00 DC pr2-016
S Prodrive PA1800/01
ACS Servo Parameters
X Y Phi z
SLPKP 202 346 350 300
SLVKP 565 500 320 694
SLVKI 265 200 569 247
SLVSOF 600 600 1500 508
SLVSOFD 0.707 0.707 0.5 0.9
SLVNFRQ 590 881 2200 n.a.
SLVNWD 51 50 300 na
SLVNATT 2.15 9.00 13 n.a.
1.2 SPR configuration
Ttem ID
XY Robot PA1118/15  DC 0856
PHS PA2800/00  DC 1931
Placement Controller
Radisys (Reference) PA1800/00 DC pr2-016
Prodrive PA1800/01
ACS Servo Parameters
3 X Y Phi z
i SLPKP 202 346 350 300
z SLVKP 565 500 320 694
(. SLVKI 265 200 569 247
§,18 | | SLVSOF 1000 900 1500 508
H: 5 | [SLVSOPD 0.55 0.44 0.5 09
5 SLVNFRQ 590 381 2200 na.
H SLVNWD 51 50 300 n.a
§§ i | [SLVNATT 2.15 9 13 na.
T
jiis
faf CLASS NO,
g1l
.3555
" Martijn Opheij SUPERS [ 14 = -2 [ 10 | Ad
DATA FMT PROGR. MS'WORD 97 PLATF WINDOWS NT
pCc| | FEX T PAE T 96-06-20 ] © Assembléon Netherlands B.V.

4022 599 00151
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:\II rights rescrved. Reproduction in whole or in part is prohibited
‘without the writien consent of the copyright

Assembleon

ijk, ia niet

gebeel of
van de

awner.

o

toegestaan dan met

2. Procedure

2.1 FRF Measurement

1) Reference FRF Measurement (ACS Controller)
e Update FW version of controller to ACS FW5.0 (in order to use FRF tool)
¢ Load duurtest.prg (loading parameters, homing scripts)
¢ Start Buffer#4 (initialise parameters and home axis).
e Perform FRF measurements as described below, using ACS FRF Tool.
2) Prodrive FRF Measurement
3) Compare results.

2.1.1 X-Axis

Measurements X

--- 585 --- 585

3 5 [
«—> - 485 > | «—> |[--- 485

2 3 4
«—> [--- 285 > | «—> [--- 285

1 1 2
«—> |--- g5 «—> | «—> L= g5

35 35 90 -10{10 90

Y - 15 --- 15

>
.
3
F
3
.
L
= -
3
o ---
_
S e
3

CPR SPR
Motion Settings
axis Item Value Item Value
X V [mmy/s] 10 Min. freq. [Hz] 10
A [mm/s?] 5000 Max. freq. [Hz] 4000
J [mm/s’] 250E3 Freq. / Decade [-] 50
Dwell [msec] | 0 Excitation Current [% of max] | 10
Y Loop Closed
Phi Loop Open
Z Loop Open
CLASS NO.
NME Martijn Ophei] SUPERS. | 14 sH[sH - 3 |10 [ A4
DATA FMT PROGR. MS'WORD 97 PLATF WINDOWS NT
DC| [ PR PAE 06.06-20 | © Assembiéon Netherlands B.V.

4022 599 00151




B TEST DATA ASSEMBLEON

2.1.2 Y-Axis
Measurements Y
-35 35
= T 1 8
= 5| s al|3] |]a
=
E [--- 435 [--- 435
& == 335 - 335
g E e
--- 235 [=-- 235
r--- 135 r-e- 135
[--- 35 [ 35
Y ; oo -1s A
-40 40 -100 -50 0 50 100
X
CPR SPR
ACS VMeasurement Settinus
axis Item Value Item Value
X Loop Closed Min. freq. [Hz] 10
Y V [mnvs] 10 Max. freq. [Hz] 4000
A [mm/s’] 16000 Freq. / Decade [-] 50
J [mm/s’] 1.25E6 Excitation Current [% of max] | 8
Dwell [msec] | 0
Phi Loop Open
Z Loop Open
}é
k-
3
B
i
b
323
b
]
s
EH
FX:
giga CLASS NO.
#1
il
MM Martijn Opheij SUPERS. [ 14 = - a0 [ A4
BATART PROSR ___MS-WORD 97 AT WINDOWS NT
Dc| |  PF=X P& 9606-20 | © Assembléon Netherlands B.V.

4022 599 00151
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2.1.3 Phi-Axis

Measurement Phi

- 17
= Z
£
s 0
'E $Phi
D
- -10
3
e 3
axis Item Value Item Value
X Loop Open Min. freq. [Hz] 10
Y Loop Open Max. freq. [Hz] 4000
Phi V jog [rad/s] | +6 CPR Freq. / Decade [-] 50
+12 SPR! Excitation Current [% of max] | 15
YA Loop Closed
2.1.4 Z-Axis
Measurement Z
2
$th
axis Item Value Item Value
X Loop Open Min. freq. [Hz] 10
Y Loop Open Max. freq. [Hz] 4000
€ Phi Loop Closed Freq. / Decade [-] 50
3 yA V [mm/s] 20 Excitation Current [% of max] | 12
1 A [mnv/s?] 40E3
2 s
i J [mm/s*] 15E6
3 | Dwell [msec] | 0
i
F
i
£8
EE13 ! In order to perform a reliable FRF on the SPR configuration the jog speed had to be increased. Most likely the PHS
%g involved is suffering more friction than the one on the CPR. Friction causes unreliable FRF measurements at lower
25 frequencies.
FHE
i3
Ey g CLASS NO.
il
5348
NAME: Martijn Opheij SUPERS. | 14 SH[SH _ 5 10 @
DATA FMT PROGR. MS-WORD 97 PLATF WINDOWS NT
pc] [ P P"& " 06-06-20 T © Assembiéon Netheriands B..

4022 599 00151
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2.2 Settle behaviour
1) Perform trajectory as described below.
2) Measure settle behaviour on encoder level and controller output for both ACS and Prodrive
controller.
[—] 3) Compare results.
s ) p: u
]
£
= X Y Phi z
% Velocity 500 [mm/s] 1400 [mm/s] 62.8 [rad/s] 500 [mm/s]
(] Acc. = Dec. 5000 [mm/s’] 16E3 [mm/s?] 1885 [rad/s’] 40E3 [mmy/s]
| e 250E3 [mms’] | 1.25E6 [mmvs’] 314E3 [rad/s’] 15E6 [mm/s’]
Test trajectories
X [mm Y [mm Phi [rad] Z [mm
Pstart | Pend | Stroke | Pstart | Pend | Stroke | Pstart | Pend | Stroke | Pstart | Pend | Stroke
Traject1 | -35 34 |+ 0 +1 +1 0 +1 +1 +15 [+10 | -5
Traject2 | -35 =25 | +10 0 +10 [ +10 0 +6.28 | +6.28 | +15 | -5 -20
Traject3 | -35 +35 | +70 0 +50 | +50 0
Traject4 | -90 +90 | +180 |0 +400 | +400 | 0
Precond. Y enabled at Y=0 X enabled at X=0 None None
Channel | Signal Description
1 PE Position Error
2 DOUT DAC Output
3 RVEL Reference Velocity
4 GPHASE Generator Phase
Trigger | RVEL>1 @ 25% of time base
B
8
£
3
(%
HH
.u% :
i
&5
i
i
¥ CLASS NO.
1
=54
NAME:  Martijn Ophei] SUPERS. | 14 SH[sH - 6 | 10 [ A4
DATA FMT PROGR. MS—WORD 97 PLATF WINDOWS NT
DC[ [ F=F P& 060620 [ © Assembléon Netherlands B.V.

4022 599 00151
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3. Reslults
3.1 FRF Measurement

3.1.1 X-Axis

3.1.1.1 CPRX

Assembliéon

3

2

i1

Ly

-1

245

H

i

0

1

gg g‘ CLASS NO.

PEEL

2348
™ Martijn Ophei] SUPERS. [ 14 - 7110 | A4
DATA FMT PROSR  MS-WORD 97 PLATF WINDOWS NT
pC| | reck PAE T 06-06-20 T © Assembléon Netherlands B.V.
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3.1.1.2 SPRX

Assembleon

3
H
.
2
£
¥ e
%g‘gs
2R 8
i
22
ki
i
Tae
3
5 & CLASS NO.
fril
2543
T NAME: Martijn Ophei] SUPERS. | 14 sH[sH - 8 | 10 | A4
DATA FT PROSR__ MS-WORD 97 i WINDOWS NT
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3.1.2 Y-Axis

3.1.2.1 CPRY

Assemblgon

z

B

X

b

H

cga

i

2

et

ki

[ H

gg %3 CLASS NO.

§31

2338
"EMartiin Ophei] SUPERS. [ 14 S -9 [ 10 | A4
DATA FHT PROGR  MS-WORD 97 PLATe WINDOWS NT
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3.1.22 SPRY
S
=
E
-]
a3
s
3.1.3 PHI-Axis
3.1.3.1 CPRPHI
H
3 :
£
Egi;
33
s
it
%>
3%
!
E;gé CLASS NO.
&1l
=34
WWE Martijn Opheij SUPERS. [14 S5 -_10 | 10 [ a4
DATA FMT PROGR. MS—wORD 97 PLATF WINDOWS NT
pCc| | [eHECK ™ PATE T 06-06-20 © Assembiéon Netherlands B.V.

4022 599 00151
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Assembléon

ia niet

3

(R

ik

i3d

i

g2

g;

4

25

’Eg f

ég gi CLASS NO

E;%s
NAMET Martijn Opheij SUPERS [ 14 sH]s® - 11 ] 10 [ a4
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=
(=]
=
€
D
2
Y
3.1.4 Z-Axis
31.41 CPRZ
2
.
z
z i1
E‘g’&é
ié ¢
it
i
3373
11
il
g55 5
H1 CLASS NO.
&
#
[~ RAME: Martijn Opheij SUPERS. [ 14 sH]s* - 12 ] 10 [ A4
DATAFMT PROSR. MS-WORD 97 P WINDOWS NT
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3.1.4.2 SPRZ

ijk, s niet

geheel of
van de

owner.

copyright

“All ghc ressrved. Repeoduction in whale o i partis prohibited

S

3

i

H

g ¥

] gs CLASS NO

I

i3]
™% Wartijn Ophei] g [14 =" - 13 ] 10 [ Ad
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